Ruthenium-Catalysed Reductive Amination without an External
Hydrogen Source

Pavel N. Kolesnikov,+ Niyaz Z. Yagafarov,T Dmitry L. Usanov,i Victor 1. Maleev,+ Denis Chusov*’

TA.N. Nesmeyanov Institute of Organoelement Compounds of the Russian Academy of Sciences
Vavilova st. 28, Moscow, Russian Federation, 119991
* Current address: Department of Chemistry and Chemical Biology, Harvard University
12 Oxford Street, Cambridge, Massachusetts 01238

E-mail: chusov@ineos.ac.ru or denis.chusov@ gmail.com

Supporting information

Table of contents

General information S2
General methods S2
Experimental section S3
Spectroscopic and analytical data S5
lH, 13C, g NMR, IR and high-resolution mass spectra of obtained compounds S18

S1



1. General information

All chemicals were obtained from Sigma-Aldrich and were used without further purification unless
otherwise noted. Ruthenium(IIl) chloride was purchased from AlfaAesar. Carbon monoxide of >98%
purity was obtained from NII KM (Moscow, Russia).

All the prepared compounds were characterized by 'H NMR, "*C NMR and "°F NMR spectroscopy. 'H
spectra were recorded in CDCI; on Bruker Avance 300 or Bruker Avance 400 spectrometers; Bc spectra
were recorded in CDCl; on Bruker Avance 400 spectrometer at 101 MHz and chemical shifts are reported
in parts per million relative to CHCl; (7.26 and 77.0 ppm for 'H and “C respectively). P spectra were
recorded in CDCl; on a Bruker Avance 300 spectrometer at 282 MHz and chemical shifts are reported in
ppm relative to trifluoroacetic acid. Silica gel was purchased from Merck (60 GF ,s4 for preparative TLC)
and Acros Organics (0.06-0.200 mm for column chromatography).

2. General methods

Preparation of the catalyst solution: ruthenium(IIl) chloride hydrate (25 mg) was dissolved in 10 ml of
acetonitrile. Aliquots of the resulting solution were used for most reactions.

Procedure A:

A glass chromatography vial was charged with 0.5 mol% of the catalyst, the corresponding solvent, 100
mol% of the amine and 100 mol% of the carbonyl compound. Six vials were placed into a cassette inside
a 100 ml stainless steel autoclave. The autoclave was sealed, flushed three times with 10 atm of CO, and
then charged with the indicated pressure of CO. After the indicated time in the oven, the reactor was
cooled to room temperature and depressurized. The solvent was removed under reduced pressure and the
residue was analyzed by NMR. The product was isolated by column chromatography or preparative thin-
layer chromatography on silica gel.

Procedure B:

A 10 ml stainless steel autoclave was charged with 0.5 mol% of the catalyst, the corresponding solvent,
100 mol% of the amine and 100 mol% of the carbonyl compound. The autoclave was sealed, flushed
three times with 10 atm of CO, and then charged with the indicated pressure of CO and placed into a
preheated oil bath. After the indicated time, the reactor was cooled to room temperature and
depressurized. The solvent was removed under reduced pressure and the residue was purified by flash
chromatography on silica gel.

S2



3. Experimental section

Table 1. Screening of ligands and optimization of the reaction pressure.

RuCl; (5 mol%) H H

o)
R CO, 140 °C X _PMP
PMP” "H H Additive I
1 2 THF, 6h 3

Entry* Pressure, bar Additive Mol% of additive Yield%, 3

1 90 PPh; 10 22
2 90 Dppe 10 8

3 90 Dppp 10 6

4 90 PPh; 15 2

5 90 PPh; 20 1

6 90 PPh; 5 60
7 90 - - 81
8 50 - - 81
9 20 - - 72
10 10 - - 56
10° 10 - - 89

The experiments were carried out according to Procedure A: * 0.2 mmol scale. Yields were determined by NMR with internal
standard. ° reaction time was increased to 24 hours, 1 mol% RuCl; was used; PMP = p-methoxyphenyl

Table 2. Solvent screening

)oL + -PMP Cg l(];i)lsb(:r)m?:)g)% H)<H PMP
VP 1 "N ) Solvent, 4h ¥ 3 N
Entry Solvent Conditions Yield %, 3

1 Hexane 11
2 Dioxane 13
3 Water 13
4 Ethyl acetate 15
5 Toluene 20
6 Ethanol 20

S3



21

7 Benzene

8 Solvent free 25
9 Methanol 26
10 Chloroform 27
11 Diethyl ether 33
12 Dichloromethane 37
13 Tetrahydrofuran 58
14 Isopropyl alcohol 61
15 Acetonitrile 96
16 Acit%‘ﬁrﬂe 1.0 mol % RuCls 9
17 Acit%‘ﬁrile 0.5% mol % RuCls 95
18 Acit%‘ﬁrile 0.2% mol % RuCl; 45
19 Acit%‘ﬁrﬂe 0.1% mol % RuCly 14
20 Aciti)l;\i/;rile 0.5% r1n3;)51 ;S RuCls i
)1 Acetonitrile 130 °C 67

1.0M 0.5% mol % RuCl;

22 Ace;t%ﬁrile 0.5% 1112051 ‘O%)C RuCl; o

The experiments were carried out according to Procedure A.

Figure 1. Identification of the turnover number using lowered loading of the catalyst.

o RuCl; (0.008 mol%) H H
I _PMP  CO (50 bar), 180 °C X _PMP
H_N ) > -
PMP~ ~H H MeCN, 24 h MP~ N

A stock solution of the catalyst was prepared by dissolving of 1 mg of ruthenium trichloride hydrate in 10
ml of acetonitrile. A 10 ml stainless steel autoclave was charged with 0.008 mol% of the catalyst (1 ml of
the stock solution), 0.6 g (4.9 mmol, 120 mol%) of p-methoxyaniline and 0.5 ml (4.1 mmol, 100 mol%)
of p-methoxybenzaldehyde. The autoclave was sealed, flushed three times with 10 atm of CO, and then
charged with the indicated pressure of CO. The reactor was placed into a preheated oil bath. After 24 h
the reactor was cooled to room temperature and depressurized. Then 2 ml of solution reaction was taken
from reactor and passed through a short silica gel plug. The solvent was removed under reduced pressure
and the residue was analyzed by NMR. 23 % NMR yield (TON = 2465). Eluent: toluene/ethyl
acetate/triethylamine 20/1/0.1 (Ry = 0.42).

S4



4. Spectroscopic and analytical data

4-Methoxy-N-(4-methoxybenzyl)aniline (1a)

o
N
IR

~o

A glass chromatography vial was charged with 4-methoxyaniline (24 mg; 196 pmol; 100 mol%),
ruthenium(IIl) chloride hydrate (100 pl of 2.5 mg/mL solution in acetonitrile; 0.95 pmol; 0.5 mol%),
acetonitrile (100 pl) and 4-methoxybenzaldehyde (24 ul; 26.7 mg; 196 umol; 100 mol%). Six vials were
placed into a cassette inside a 100 ml stainless steel autoclave. The autoclave was sealed, flushed three
times with 10 atm of CO, and then charged with the 30 atm of CO. After 22 h at 140 °C in the oven, the
reactor was cooled to room temperature and depressurized. The solvent was removed under reduced
pressure and the residue was analyzed by NMR. Full conversion, 95% NMR yield (HMDS was used as
internal standard). Purification: preparative TLC, eluent: toluene/ethyl acetate/triethylamine 20/1/0.1 (R¢
= 0.42). Isolated as a yellow solid, 35 mg (73%). mp = 89-91°C.

'"H NMR (400 MHz, CDCl3) § 7.31 (d, J = 8.5 Hz, 2H), 6.90 (d, J = 8.5 Hz, 2H), 6.81 (d, J = 8.8 Hz, 2H), 6.63 (d, J = 8.8 Hz,
2H), 4.22 (s, 2H), 3.82 (s, 3H), 3.76 (s, 3H), 3.70 — 3.55 (br s, 1H).

C NMR (101 MHz, CDCly) § 158.7, 152.1, 142.4, 131.6, 128.7, 114.8, 114.0, 113.9, 55.7, 55.2, 48.6.

The obtained NMR data was in agreement with the literature report.

4-Methoxy-N-(3-methoxybenzyl)aniline (1b)

oy

_0

A 10 ml stainless steel autoclave was charged with 4-methoxyaniline (24 mg; 196 umol; 100 mol%),
ruthenium(IIl) chloride hydrate (100 pl of 2.5 mg/mL solution in acetonitrile; 0.95 pmol; 0.5 mol%),
acetonitrile (100 pl) and 3-methoxybenzaldehyde (24 ul; 26.7 mg; 196 umol; 100 mol%). The autoclave
was sealed, flushed three times with 10 atm of CO, and then charged with 30 atm CO. The reactor was
placed into an oil bath preheated to 140 °C. After 22 h, the reactor was cooled to room temperature and
depressurized. The reaction mixture was transferred into a flask and the autoclave was washed with
dichloromethane (2x1mL). The solvent was removed under reduced pressure and the residue was
analyzed by NMR. Full conversion, 91% NMR yield (HMDS was used as internal standard). Purification:
preparative TLC, eluent: toluene/ethyl acetate/triethylamine 20/1/0.1 (R = 0.42). Isolated as a yellow oil,
32 mg (66%).

'"H NMR (400 MHz, CDCLy) § 7.23 (d, J = 7.2 Hz, 1H), 6.96 — 6.91 (m, 2H), 6.73-6.83 (m, 3H), 6.59 (d, J = 8.8 Hz, 2H), 4.24
(s, 2H), 3.78 (s, 3H), 3.72 (s, 3H), 3.45-3.55 (br s, 1H).

! Lei, Q.; Wei, Y.; Talwar, D.; Wang, C.; Xue, D.; Xiao, J. Chem. Eur. J. 2013, 19, 4021-4029.
S5



BC NMR (101 MHz, CDCl3) 6 159.9, 152.2, 142.4, 141.5, 129.6, 119.8, 114.9, 114.2, 113.0, 112.6, 55.8, 55.2, 49.2.
HRMS (TOF ESI): for [M+H]" (C;5H;sNO,") calculated m/z 244.1332, found: m/z 244.1335

IR (Vmax, cm'l): NH (3397), aromatic C=C (1601; 1585; 1512; 1456; 1437), aromatic C-H (821; 784,
693).

4-Methoxy-N-(2-methoxybenzyl)aniline (1c)

o

A 10 ml stainless steel autoclave was charged with: 4-methoxyaniline (24 mg; 196 pmol; 100 mol%), 2-
methoxybenzaldehyde (26 mg; 196 pumol; 100 mol%), ruthenium(Ill) chloride hydrate (100 ul of 2.5
mg/mL solution in acetonitrile; 0.95 umol; 0.5 mol%) and acetonitrile (100 ul). The autoclave was sealed,
flushed three times with 10 atm of CO, and then charged with 30 atm CO. The reactor was placed into an
oil bath preheated to 140 °C. After 22 h, the reactor was cooled to room temperature and depressurized.
The reaction mixture was transferred into a flask and the autoclave was washed with dichloromethane
(2x1mL). The solvent was removed under reduced pressure and the residue was analyzed by NMR. Full
conversion, 91% NMR yield (HMDS was used as internal standard). Purification: preparative TLC,
eluent: toluene/ethyl acetate/triethylamine 20/1/0.1 (R=0.42). Isolated as a yellow oil, 38 mg (80%).

'H NMR (400 MHz, CDCl3) § 7.32 (d, J = 7.4 Hz, 1H), 7.26 (t, J = 7.8 Hz, 1H), 6.95 — 6.89 (m, 2H), 6.79 (d, J = 7.8 Hz, 2H),
6.64 (d, J = 8.9 Hz, 2H), 4.30 (s, 2H), 3.87 (s, 3H), 3.75 (s, 3H).

C NMR (101 MHz, CDCly) § 157.4, 152.1, 142.7, 129.0, 128.3, 127.6, 120.5, 114.8, 114.5, 110.2, 55.8, 55.3, 44.5.

The obtained NMR data was in agreement with the literature report.2

2,2,2-Trifluoro-N-(4-fluorobenzyl)-N-(4-methoxyphenyl)acetamide (1d)

A 10 ml stainless steel autoclave was charged with 4-methoxyaniline (48 mg; 393 umol; 100 mol%),
ruthenium(IIl) chloride hydrate (200 pl of 2.5 mg/mL solution in acetonitrile; 1.96 pmol; 0.5 mol%),
acetonitrile (200 ul) and 4-fluorobenzaldehyde (42 pl; 48.6 mg; 393 umol; 100 mol%). The autoclave
was sealed, flushed three times with 10 atm of CO, and then charged with 30 atm CO. The reactor was
placed into an oil bath preheated to 140 °C. After 22 h, the reactor was cooled to room temperature and
depressurized. The reaction mixture was transferred into a flask and the autoclave was washed with
dichloromethane (2x1mL). The solvent was removed under reduced pressure and the residue was
analyzed by NMR. Full conversion, 80% NMR yield. The product was dissolved in dichloromethane (0.5

2 Fleischer, S.; Zhou, S.; Junge, K.; Beller, M. Chem. Asian J. 2011, 6, 2240-2245.
S6



mL). The solution was cooled down to 0 °C and trifluoroacetic anhydride (200 ul) was added. After 15
minutes the solvent was removed under reduced pressure. Purification: preparative TLC, eluent:
hexane/ethyl acetate 5/1 (R=0.5). Isolated as a greenish oil, 90 mg (70%).

'"H NMR (300 MHz, CDCl5) § 7.33 — 7.25 (m, 2H), 7.08 (t, J = 7.2 Hz, 1H), 7.00 — 6.90 (m, 3H), 6.79 (d, J = 8.0 Hz, 2H), 4.97
(s, 2H), 3.77 (s, 3H).

'“F NMR (282 MHz, CDCl5) § 10.6, -40.1.

C NMR (101 MHz, CDCl3) 5 161.0 (d, J = 248.2 Hz), 159.8, 157.3 (q, J = 35.5 Hz), 131.4 (d, J = 3.6 Hz), 130.9, 130.1 (d, J
= 8.2 Hz), 129.6, 124.4 (d, J = 3.6 Hz), 122.3 (d, J/ = 14.7 Hz), 116.5 (q, J = 288.4 Hz), 115.4 (d, J = 21.6 Hz), 114.2, 55.4,
48.6 (d, J =2.9 Hz).

HRMS (TOF ESI): for [M+Na]" (C;6H3FsNNaO,") calculated m/z 350.0780, found m/z 350.0775.

IR (Vmaxs cm'l): C=0 (1703), aromatic C=C (1600; 1507; 1457; 1418), aromatic C-H (838, 694).

N-(3-fluorobenzyl)-4-methoxyaniline (le)

e

F

A 10 ml stainless steel autoclave was charged with 4-methoxyaniline (24 mg; 196 umol; 100 mol%),
ruthenium(IIl) chloride hydrate (100 pl of 2.5 mg/mL solution in acetonitrile; 0.95 pmol; 0.5 mol%),
acetonitrile (100 pl) and 3-fluorobenzaldehyde (21 pl; 24.3 mg; 196 umol; 100 mol%). The autoclave
was sealed, flushed three times with 10 atm of CO, and then charged with 30 atm CO. The reactor was
placed into an oil bath preheated to 140 °C. After 22 h, the reactor was cooled to room temperature and
depressurized. The reaction mixture was transferred into a flask and the autoclave was washed with
dichloromethane (2x1mL). The solvent was removed under reduced pressure and the residue was
analyzed by NMR. Full conversion, 80% NMR yield (HMDS was used as internal standard). Purification:
Preparative TLC eluent hexane/ethyl acetate/triethylamine 90/30/3 (R=0.7). Isolated as a yellow oil, 25
mg (54%).

'H NMR (300 MHz, CDCl3) § 7.33 — 7.26 (m, 1H), 7.16 — 7.07 (m, 2H), 6.98 — 6.93 (m, 1H), 6.78 (d, J = 8.9 Hz, 2H), 6.58 (d,
J = 8.9 Hz, 2H), 4.30 (s, 2H), 3.74 (s, 3H).

F NMR (282 MHz, CDCl;) & -35.34.

>C NMR (101 MHz, CDCl;) § 163.2 (d, J = 246.0 Hz), 152.4, 142.6 (d, J = 6.8 Hz), 142.1, 130.1 (d, J = 8.2 Hz), 122.9 (d, J =
2.8 Hz), 115.0, 114.4, 114.2 (d, J = 22.1 Hz), 113.9, 55.8, 48.7.

The obtained NMR data was in agreement with the literature report.2

As an alternative route, the product was obtained as a trifluoroacetamide derivative. The reductive
amination reaction mixture was transferred from the autoclave into a flask and the autoclave was washed
with dichloromethane. The solvent was removed under reduced pressure. The product was dissolved in
dichloromethane (0.5 mL). The solution was cooled down to 0 °C and trifluoroacetic anhydride (200 ul)
was added. After 15 minutes the solvent was removed under reduced pressure. Purification: Preparative

S7



TLC, eluent: toluene/ethyl acetate/triethylamine 20/1/0.1 (R=0.55). Isolated as a greenish oil, 47 mg
(74%).

'"H NMR (300 MHz, CDCl3) § 7.31 — 7.22 (m, 1H), 7.03 — 6.90 (m, SH), 6.82 (d, J = 8.9 Hz, 2H), 4.84 (s, 2H), 3.80 (s, 3H).

F NMR (282 MHz, CDCl;) & 10.57, -34.80.

C NMR (75 MHz, CDCl;) § 162.7 (d, J = 246.8 Hz), 159.8, 137.8 (d, J = 7.1 Hz), 131.0, 130.2 (d, J = 8.2 Hz), 129.7, 124.9
(d,J=2.7Hz), 116.5 (d, J=288.4 Hz), 116.1 (d, J=21.6 Hz), 115.2 (d, J=21.1 Hz), 114.3, 55.4, 55.1.

2,2,2-Trifluoro-N-(2-fluorobenzyl)-N-(4-methoxyphenyl)acetamide (1f)

A 10 ml stainless steel autoclave was charged with 4-methoxyaniline (24 mg; 196 umol; 100 mol%),
ruthenium(IIl) chloride hydrate (100 pl of 2.5 mg/mL solution in acetonitrile; 0.95 pmol; 0.5 mol%),
acetonitrile (100 pl) and 2-fluorobenzaldehyde (21 pl; 24.3 mg; 196 umol; 100 mol%). The autoclave
was sealed, flushed three times with 10 atm of CO, and then charged with 30 atm CO. The reactor was
placed into an oil bath preheated to 140 °C. After 22 h, the reactor was cooled to room temperature and
depressurized. The reaction mixture was transferred into a flask and the autoclave was washed with
dichloromethane (2x1mL). The solvent was removed under reduced pressure and the residue was
analyzed by NMR. Full conversion, 85% NMR yield. The product was dissolved in dichloromethane (0.5
mL). The solution was cooled down to 0 °C and trifluoroacetic anhydride (200 pl) was added. After 15
minutes the solvent was removed under reduced pressure. Purification: preparative TLC, eluent:
toluene/ethyl acetate/triethylamine 20/1/0.1 (R=0.61). Isolated as a yellow oil, 45 mg (70%).

'"H NMR (300 MHz, CDCLy) § 7.35 — 7.22 (m, 2H), 7.09 (t, J = 7.4 Hz, 1H), 6.98 (d, J = 9.9 Hz, 1H), 6.94 (d, J = 8.8 Hz, 2H),
6.80 (d, J = 8.8 Hz, 2H), 4.97 (s, 2H), 3.78 (s, 3H).

"”F NMR (282 MHz, CDCl5) & 10.6, -40.1.

3C NMR (101 MHz, CDCl3) § 161.0 (d, J = 248.0 Hz), 159.8, 157.3 (q, J = 35.5 Hz), 131.4 (d, J = 3.6 Hz), 130.9, 130.1 (d, J
= 8.1 Hz), 129.6, 124.4 (d, J = 3.6 Hz), 122.3 (d, J = 14.8 Hz), 116.5 (q, J = 288.4 Hz), 115.4 (d, J = 21.6 Hz), 114.2, 55.4,
48.6 (d, J = 3.0 Hz).

HRMS (TOF ESI"): for [M+H]" (C¢H4sFsNO,") calculated m/z 328.0955, found m/z 328.0963. For
[M+Na]* (C6H13F4sNNaO,") calculated m/z 350.0775, found m/z 350.0783.

IR (Vmax, cm'l): C=0 (1702), aromatic C=C (1608; 1587; 1510; 1457), aromatic C-H (838; 799; 759;
730).

N-(2-chlorobenzyl)-2,2,2-trifluoro-N-(4-methoxyphenyl)acetamide (1g)

S8



A 10 ml stainless steel autoclave was charged with 4-methoxyaniline (24 mg; 196 umol; 100 mol%),
ruthenium(IIl) chloride hydrate (100 pl of 2.5 mg/mL solution in acetonitrile; 0.95 pmol; 0.5 mol%),
acetonitrile (100 ul) and 2-chlorobenzaldehyde (22 pl; 27.6 mg; 196 pmol; 100 mol%). The autoclave
was sealed, flushed three times with 10 atm of CO, and then charged with 30 atm CO. The reactor was
placed into an oil bath preheated to 140 °C. After 22 h, the reactor was cooled to room temperature and
depressurized. The reaction mixture was transferred into a flask and the autoclave was washed with
dichloromethane (2x1mL). The solvent was removed under reduced pressure and the residue was
analyzed by NMR. Full conversion, 95% NMR yield (HMDS was used as internal standard). The product
was dissolved in dichloromethane (0.5 mL). The solution was cooled down to 0 °C and trifluoroacetic
anhydride (200 ul) was added. After 15 minutes the solvent was removed under reduced pressure.
Purification: preparative TLC, eluent: toluene/ethyl acetate/triethylamine 20/1/0.1 (R=0.47). Isolated as a
yellow oil, 48 mg (70%).

'H NMR (400 MHz, CDCl;) § 7.33 — 7.16 (m, 4H), 6.94 (d, J = 8.6 Hz, 2H), 6.78 (d, J = 8.6 Hz, 2H), 5.07 (s, 2H), 3.78 (s,
3H).

F NMR (282 MHz, CDCl5) & 10.7.

C NMR (101 MHz, CDCl3) § 159.8, 157.3 (q, J = 35.9 Hz), 134.3, 132.8, 131.0, 130.7, 129.6, 129.6, 129.4, 127.1, 116.5 (q,
J=288.4Hz). 114.1, 55.4, 52.2.

HRMS (TOF ESI"): for [M+H]" (C¢H14CIF3sNO,") calculated m/z 344.0665, found m/z 344.0661. For
[M+Na]+ (C6H13CIF3NNaO,") calculated m/z 366.0485, found m/z 366.0477.

IR (Vimax, cm'l): C=0 (1701), aromatic C=C (1608; 1585; 1511; 1477).

N-benzyl-4-methoxyaniline (1h)

Sand

A glass chromatography vial was charged with 4-methoxyaniline (24 mg; 196 pmol; 100 mol%),
ruthenium(IIl) chloride hydrate (200 pl of 2.5 mg/mL solution in acetonitrile; 1.96 umol; 1 mol%),
acetonitrile (200 ul) and benzaldehyde (20 pl; 21 mg; 196 umol; 100 mol%). Six vials were placed into a
cassette inside a 100 ml stainless steel autoclave. The autoclave was sealed, flushed three times with 10
atm of CO, and then charged with 30 atm of CO. After 22 h at 140 °C in the oven, the reactor was cooled
to room temperature and depressurized. The solvent was removed under reduced pressure and the residue
was analyzed by NMR. Full conversion, 85% NMR yield. Purification: preparative TLC, eluent:
toluene/ethyl acetate/triethylamine 20/1/0.1 (R=0.47). Isolated as a yellow oil, 29 mg (70%).

'H NMR (400 MHz, CDCl;) 8 7.43-7.28 (m, 5H), 6.82 (d, J = 8.8 Hz, 2H), 6.65 (d, J = 8.8 Hz, 2H), 4.33 (s, 2H), 3.78 (s, 3H).

C NMR (101 MHz, CDCly) § 152.2, 142.5, 139.7, 128.6, 127.6, 127.2, 114.9, 114.1, 55.8, 49.2.

S9



The obtained NMR data was in agreement with the literature report.

4-Methoxy-N-(4-methylbenzyl)aniline (1i)

o

A glass chromatography vial was charged with 4-methoxyaniline (24 mg; 196 pmol; 100 mol%),
ruthenium(IIl) chloride hydrate (200 pl of 2.5 mg/mL solution in acetonitrile; 1.96 pmol; 1 mol%),
acetonitrile (200 pl) and 4-methylbenzaldehyde (23 ul; 23.6 mg; 196 pmol; 100 mol%). Six vials were
placed into a cassette inside a 100 ml stainless steel autoclave. The autoclave was sealed, flushed three
times with 10 atm of CO, and then charged with 30 atm of CO. After 22 h at 140 °C in the oven, the
reactor was cooled to room temperature and depressurized. The solvent was removed under reduced
pressure and the residue was analyzed by NMR. Full conversion, 81% NMR yield. Purification:
preparative TLC, eluent: toluene/ethyl acetate/triethylamine 20/1/0.1 (R=0.4). Isolated as a yellow oil, 33
mg (73%).

'H NMR (300 MHz, CDCl;) § 7.28 (d, J = 7.8 Hz, 2H), 7.17 (d, J = 7.8 Hz, 2H), 6.80 (d, J = 8.8 Hz, 2H), 6.64 (d, J = 8.8 Hz,
2H), 4.25 (s, 2H), 3.76 (s, 3H), 2.36 (s, 3H).

C NMR (101 MHz, CDCl3) § 152.3, 142.2, 136.9, 136.4, 129.3, 127.6, 114.9, 114.4, 55.8, 49.2, 21.1.

The obtained NMR data was in agreement with the literature report.'

4-Methoxy-N-(thiophen-2-ylmethyl)aniline (1j)

e
S N
\_S H

A glass chromatography vial was charged with 4-methoxyaniline (24 mg; 196 pmol; 100 mol%),
ruthenium(IIl) chloride hydrate (100 pl of 2.5 mg/mL solution in acetonitrile; 0.95 pmol; 0.5 mol%),
acetonitrile (100 pl) and 2-thiophenecarboxaldehyde (18 pul; 22 mg; 196 pumol; 100 mol%). Six vials were
placed into a cassette inside a 100 ml stainless steel autoclave. The autoclave was sealed, flushed three
times with 10 atm of CO, and then charged with 30 atm of CO. After 22 h at 140 °C in the oven, the
reactor was cooled to room temperature and depressurized. The solvent was removed under reduced
pressure and the residue was analyzed by NMR. Full conversion, 92% NMR yield (HMDS was used as
internal standard). Purification: preparative TLC, eluent: toluene/ethyl acetate/triethylamine 20/1/0.1
(R=0.5). Isolated as a yellow oil, 34 mg (79%).

'H NMR (300 MHz, CDCl3) § 7.25 — 7.19 (m, 1H), 7.03 — 6.95 (m, 2H), 6.80 (d, J = 8.9 Hz, 2H), 6.66 (d, J = 8.9 Hz, 2H),
4.48 (s, 2H), 3.76 (s, 3H).

C NMR (75 MHz, CDCl5) 8 152.7, 143.0, 141.5, 126.8, 125.1, 124.6, 115.8, 114.8, 55.7, 44.6

S10



The obtained NMR data was in agreement with the literature report.’

N-(4-(benzyloxy)benzyl)-4-methoxyaniline (1k)

A 10 ml stainless steel autoclave was charged with 4-methoxyaniline (24 mg; 196 umol; 100 mol%), 4-
benzyloxybenzaldehyde (41 mg; 196 pumol; 100 mol%), ruthenium(IIl) chloride hydrate (100 pl of 2.5
mg/mL solution in acetonitrile; 0.95 umol; 0.5 mol%) and acetonitrile (100 ul). The autoclave was sealed,
flushed three times with 10 atm of CO, and then charged with 30 atm CO. The reactor was placed into an
oil bath preheated to 140 °C. After 22 h, the reactor was cooled to room temperature and depressurized.
The reaction mixture was transferred into a flask and the autoclave was washed with dichloromethane
(2x1mL). The solvent was removed under reduced pressure and the residue was analyzed by NMR. Full
conversion, 81% NMR yield. Purification: preparative TLC, eluent: toluene/ethyl acetate/triethylamine
20/1/0.1 (R¢=0.39). Isolated as a yellow solid, 35 mg (56%). mp = 100-102 °C.

'"H NMR (300 MHz, CDCl3) § 7.47-7.26 (m, 7H), 6.98 (d, J = 8.1 Hz, 2H), 6.81 (d, J = 8.5 Hz, 2H), 6.64 (d, J = 8.5 Hz, 2H),
5.08 (s, 2H), 4.23 (s, 2H), 3.76 (s, 3H).

C NMR (101 MHz, CDCl3) § 158.1, 152.3, 142.2, 137.1, 131.8, 129.0, 128.6, 128.0, 127.5, 115.0, 114.9, 114.4, 70.1, 55.8,
48.9.

HRMS (TOF ESI"): for [M+H]+ (C»;H2oNO,") calculated m/z 320.1645, found m/z 320.1642. For
[M+Na]" (C2;H,;NNaO,") calculated m/z 342.1465, found 342.1469.

IR (Vimax, cm'l): NH (3393), aromatic C=C (1683; 1653; 1558; 1506; 1456), aromatic C-H (821; 757; 738;
698).

4-methoxy-N-(naphthalen-2-ylmethyl)aniline (11)

a0 e™

A glass chromatography vial was charged with 4-methoxyaniline (24 mg; 196 umol; 100 mol%), 2-
naphthaldehyde (30 mg; 196 pumol; 100 mol%), ruthenium(IIl) chloride hydrate (100 ul of 2.5 mg/mL
solution in acetonitrile; 0.95 pumol; 0.5 mol%) and acetonitrile (100 upl). Six vials were placed into a
cassette inside a 100 ml stainless steel autoclave. The autoclave was sealed, flushed three times with 10
atm of CO, and then charged with 30 atm of CO. After 22 h at 140 °C in the oven, the reactor was cooled
to room temperature and depressurized. The solvent was removed under reduced pressure and the residue
was analyzed by NMR. Full conversion, 90% NMR yield. Purification: preparative TLC, eluent:
toluene/ethyl acetate/triethylamine 20/1/0.1 (R=0.37). Isolated as a yellow oil, 42 mg (81%);

'H NMR (300 MHz, CDCl;) 3 7.86-7.81 (m, 4H), 7.53-7.48 (m, 3H), 6.81 (d, J = 8.8 Hz, 2H), 6.66 (d, J = 8.8 Hz, 2H), 4.46 (s,
2H), 3.76 (s, 3H).

3 Deng, J.; Mo, L-P.; Zhao, F-Y.; Hou, L-L.;Yang, L.; Zhang, Z-H. Green Chem. 2011, 13,2576-2584.
S11



C NMR (75 MHz, CDCl5) § 152.2, 142.5, 137.3, 133.5, 132.8, 128.3, 127.8, 127.7, 126.2, 126.0, 125.9, 125.7, 114.9, 114.2,
55.8,49.4.

The obtained NMR data was in agreement with the literature report.4

N-(cyclohexylmethyl)-4-methoxyaniline (Im)

SEn

A glass chromatography vial was charged with 4-methoxyaniline (48 mg; 392 pmol; 100 mol%),
ruthenium(IIl) chloride hydrate (200 pl of 2.5 mg/mL solution in acetonitrile; 1.96 pmol; 0.5 mol%),
acetonitrile (200 pl) and cyclohexanecarboxaldehyde (47.6 pul; 44.1 mg; 392 umol; 100 mol%). Six vials
were placed into a cassette inside a 100 ml stainless steel autoclave. The autoclave was sealed, flushed
three times with 10 atm of CO, and then charged with the 30 atm of CO. After 22 h at 140 °C in the oven,
the reactor was cooled to room temperature and depressurized. The solvent was removed under reduced
pressure and the residue was analyzed by NMR. Full conversion, 70% NMR yield (HMDS was used as
internal standard). Purification: preparative TLC, eluent: toluene/ethyl acetate/triethylamine 20/1/0.1
(R=0.47). Isolated as a yellow oil, 55 mg (64%).

'H NMR (300 MHz, CDCl5) 3 6.79 (d, J = 8.8 Hz, 2H), 6.59 (d, J = 8.8 Hz, 2H), 3.76 (s, 3H), 3.48 (br s, 1H), 2.92 (d, J = 6.6
Hz, 2H), 1.85-1.69 (m, 5H), 1.68-1.49 (m, 1H), 1.33 — 1.17 (m, 3H), 1.04-0.88 (m, 2H).

C NMR (101 MHz, CDCl;) 8 151.9, 142.9, 114.9, 114.0, 55.9, 51.7, 37.6, 31.4, 26.6, 26.0.

The obtained NMR data was in agreement with the literature report.5

N-(4-methoxyphenyl)adamantan-2-amine (In)

agen

A 10 ml stainless steel autoclave was charged with p-anisidine (30 mg; 240 pmol; 100 mol%),
ruthenium(IIl) chloride hydrate (120 pl of 2.5 mg/mL solution in acetonitrile; 1.2 pumol; 0.5 mol %),
acetonitrile (200 pl) and adamantanone (36 mg; 240 pmol; 100 mol%). The autoclave was sealed, flushed
three times with 10 atm of CO, and then charged with 30 atm CO. The reactor was placed into an oil bath
preheated to 140 °C. After 22 h, the reactor was cooled to room temperature and depressurized. The
reaction mixture was transferred into a flask and the autoclave was washed with dichloromethane
(2x1mL). The solvent was removed under reduced pressure and the residue was analyzed by NMR. Full
conversion, 93% NMR yield (HMDS was used as internal standard). The product was purified via
filtration through thin layer of silica gel in hexane/ethyl acetate/triethylamine (6:1:0.1); Ry= 0.46; Isolated
as a grey solid, 43 mg (70%); mp = 100-102 °C.

4 Fleischer, S.; Zhou, S.; Junge, K.; Beller, M. Chem. Asian J. 2011, 6, 2240-2245.
3 Chusov, D.; List, B. Angew. Chem. Int. Ed. 2014, 53, 5199-5201.

S12



'H NMR (CDCls, 400.13 MHz): § 6.78 (d, J = 8.8 Hz, 2H), 6.60 (d, J = 8.8 Hz, 2H), 3.75 (s, 3H), 3.48 (s, 1H), 2.08 — 1.72 (m,
13H), 1.59 (d, J = 12.6 Hz, 2H).

C NMR (101 MHz, CDCl;) 8 151.8, 141.4, 114.9, 114.7, 57.9, 55.8, 37.8, 37.5, 31.6, 31.5, 27.5, 27.4.

HRMS (TOF ESI'): for [M+H]" (C17H,4NO") calculated m/z 258.1852, found m/z 258.1853.

IR (Viax, cm'l): NH (3395), methylene CH (2952; 2922; 2852), aromatic C=C (1615; 1511; 1466),
aromatic C-H (814; 747; 654).

4-methyl-N-neopentylaniline (10)

SWes

A 10 ml stainless steel autoclave was charged with p-toluidine (42 mg; 392 pmol; 100 mol%),
ruthenium(IIl) chloride hydrate (200 pl of 2.5 mg/mL solution in acetonitrile; 1.96 pmol; 0.5 mol%),
acetonitrile (200 pl) and pivalaldehyde (42.7 pl; 33.8 mg; 392 pumol; 100 mol%). The autoclave was
sealed, flushed three times with 10 atm of CO, and then charged with 50 atm CO. The reactor was placed
into an oil bath preheated to 140 °C. After 22 h, the reactor was cooled to room temperature and
depressurized. The reaction mixture was transferred into a flask and the autoclave was washed with
dichloromethane (2x1mL). The solvent was removed under reduced pressure and the residue was
analyzed by NMR. Full conversion, 99% NMR yield (HMDS was used as internal standard). The product
was purified by passing through a short silica gel plug in dichloromethane and washed with
dichloromethane. The solvent was evaporated under reduced pressure. Isolated as a yellow oil, 69 mg
(99%).

'"H NMR (300 MHz, CDCl) § 7.00 (d, J = 8.2 Hz, 2H), 6.57 (d, J = 8.2 Hz, 2H), 2.89 (s, 2H), 2.25 (s, 3H), 1.01 (s, 9H).
3C NMR (101 MHz, CDCL3) § 146.9, 129.7, 126.1, 112.8, 56.3, 31.9, 27.7, 20.4.
HRMS (TOF ESI*): for [M+H]+ (C1,H2N") calculated m/z 178.1590, found m/z 178.1597.

IR (Vimax, cm'l): NH (3418), methyl CH (2954; 2865), aromatic C=C (1619; 1520; 1476), aromatic C-H
(805).

4-Methoxy-N-neopentylaniline (Ip)

Y“Q

H

A 10 ml stainless steel autoclave was charged with 4-methoxyaniline (48 mg; 392 umol; 100 mol%),
ruthenium(IIl) chloride hydrate (200 pl of 2.5 mg/mL solution in acetonitrile; 1.96 pmol; 0.5 mol%),
acetonitrile (200 pl), and pivalaldehyde (42.7 pl; 33.8 mg; 392 pumol; 100 mol%). The autoclave was
sealed, flushed three times with 10 atm of CO, and then charged with 50 atm CO. The reactor was placed

S13



into an oil bath preheated to 140 °C. After 22 h, the reactor was cooled to room temperature and
depressurized. The reaction mixture was transferred into a flask and the autoclave was washed with
dichloromethane (2x1mL). The solvent was removed under reduced pressure and the residue was
analyzed by NMR. Full conversion, 99% NMR yield (HMDS was used as internal standard). The product
was purified by passing through a short silica gel plug in dichloromethane and washed with
dichloromethane. The solvent was evaporated under reduced pressure. Isolated as a yellow oil, 75 mg
(99%).

'H NMR (300 MHz, CDCl5) 8 6.80 (d, J = 8.8 Hz, 2H), 6.62 (d, J = 8.8 Hz, 2H), 3.76 (s, 3H), 2.87 (s, 2H), 1.02 (s, 9H).

C NMR (101 MHz, CDCl;) § 151.8, 143.6, 114.9, 113.9, 57.1, 55.9, 31.8, 27.7.

The obtained NMR data was in agreement with the literature report.’

N-neopentylnaphthalen-1-amine (1q)

HN

B

A glass chromatography vial was charged with 1-naphthylamine (56 mg; 392 pumol) 100 mol%,
ruthenium(IIl) chloride hydrate (200 pl of 2.5 mg/mL solution in acetonitrile; 1.96 pmol; 0.5 mol%),
acetonitrile (200 ul) and pivalaldehyde (42.7 ul; 33.8 mg; 392 umol; 100 mol%). Six vials were placed
into a cassette inside a 100 ml stainless steel autoclave. The autoclave was sealed, flushed three times
with 10 atm of CO, and then charged with the 50 atm of CO. After 22 h at 140 °C in the oven, the reactor
was cooled to room temperature and depressurized. The solvent was removed under reduced pressure and
the residue was analyzed by NMR. Full conversion, 93% NMR yield (HMDS was used as internal
standard). Purification: preparative TLC eluent toluene/ ethyl acetate/triethylamine 20/1/0.1 (R=0.95).
Isolated as a yellow oil, 69 mg (81%)

'H NMR (300 MHz, CDCl;) 5 7.88 (t, J = 9.8 Hz, 2H), 7.56 — 7.46 (m, 2H), 7.42 (t, J = 7.9 Hz, 1H), 7.29 (d, J = 8.2 Hz, 1H),
6.70 (d, J =7.5 Hz, 1H), 4.65 — 4.20 (br s, 1H), 3.12 (s, 2H), 1.18 (s, 9H).

C NMR (101 MHz, CDCly) § 144.1, 134.4, 128.8, 126.8, 125.7, 124.7, 123.5, 119.8, 117.0, 104.2, 55.9, 31.8, 28.0.

The obtained NMR data was in agreement with the literature report.’

Ethyl 3-(4-methoxybenzylamino)benzoate (1r)

6 List, B; Chusov, D. Patent: W02014/90806 A1, 2014.
7 Maeda, K.; Horikoshi, Y.; Hayashi, M.; Mori, Y.; Nagano, H. J. Chem. Soc., Perkin Trans. 1, 1996, 789-792.

S14



A 10 ml stainless steel autoclave was charged with ethyl 3-aminobenzoate (29 pl; 32.4 mg; 196 umol;
100 mol%), ruthenium(III) chloride hydrate (100 pl of 2.5 mg/mL solution in acetonitrile; 0.95 pmol; 0.5
mol%), acetonitrile (100 ul), 4-methoxybenzaldehyde (24 ul; 26.7 mg; 196 umol; 100 mol%). The
autoclave was sealed, flushed three times with 10 atm of CO, and then charged with 30 atm CO. The
reactor was placed into an oil bath preheated to 140 °C. After 22 h, the reactor was cooled to room
temperature and depressurized. The reaction mixture was transferred into a flask and the autoclave was
washed with dichloromethane (2x1mL). The solvent was removed under reduced pressure and the residue
was analyzed by NMR. Full conversion, 90% NMR yield (HMDS was used as internal standard).
Purification: preparative TLC, eluent: toluene/ethyl acetate/triethylamine 20/1/0.1 (R=0.47). Isolated as a
yellow solid, 43 mg (77%). mp = 102-104 °C.

'H NMR (400 MHz, CDCl;) § 7.40 (d, J = 7.7 Hz, 1H), 7.34 (s, 1H), 7.29 (d, J = 8.5 Hz, 2H), 7.22 (t, J = 7.8 Hz, 1H), 6.89 (d,
J=8.6 Hz, 2H), 6.79 (dd, J = 8.0, 1.7 Hz, 1H), 4.35 (q, J = 7.1 Hz, 2H), 4.29 (s, 2H), 3.81 (s, 3H), 1.38 (t, / = 7.1 Hz, 3H).

C NMR (101 MHz, CDCl3) § 167.0, 159.0, 148.1, 131.4, 130.9, 129.2, 128.9, 118.6, 117.1, 114.1, 113.6, 60.8, 55.3, 47.7,
14.3.

HRMS (TOF ESI"): for [M+H]" (C17H20NO;") calculated m/z 286.1438, found m/z 286.1444. For
[M+Na]* (C7H19NNaOs") calculated 308.1257, found 308.1261

IR (vmax, cm-1): NH (3388), CH (2953; 2924; 2853), C=0 (1703), aromatic C=C (1608; 1582; 1510;
1464; 1456), aromatic C-H (823; 754; 720).

N,N-dibenzyl-1-(4-methoxyphenyl)methanamine (1s)

_0

A 10 ml stainless steel autoclave was charged with ruthenium(III) chloride hydrate (100 pl of 2.5 mg/mL
solution in acetonitrile; 0.95 pmol; 0.5 mol%), acetonitrile (100 ul), dibenzylamine (37.8 ul; 38.7 mg;
196 pumol; 100 mol%) and 4-methoxybenzaldehyde (24 pl; 26.7 mg; 196 pmol; 100 mol%). The
autoclave was sealed, flushed three times with 10 atm of CO, and then charged with 30 atm CO. The
reactor was placed into an oil bath preheated to 140 °C. After 22 h, the reactor was cooled to room
temperature and depressurized. The reaction mixture was transferred into a flask and the autoclave was
washed with dichloromethane (2x1mL). The solvent was removed under reduced pressure and the residue
was analyzed by NMR. Full conversion, 93% NMR yield (HMDS was used as internal standard).
Purification: preparative TLC, eluent: toluene/ethyl acetate/triethylamine 20/1/0.1 (R=0.6). Isolated as
yellow oil, 42 mg (68%)

S15



'H NMR (400 MHz, CDCl;) § 7.44 (d, J = 7.3 Hz, 4H), 7.39-7.35 (m, 6H), 7.27 (d, J = 6.1 Hz, 2H), 6.90 (d, J = 8.3 Hz, 2H),
3.82 (s, 3H), 3.58 (s, 4H), 3.53 (s, 2H).

C NMR (101 MHz, CDCl;) & 139.8, 131.6, 129.9, 128.8, 128.2, 126.8, 113.6, 57.8, 57.2, 55.3.

The obtained NMR data was in agreement with the literature report.®

N-isopropyl-2-methoxyaniline (1t)

A L

A 10 ml stainless steel autoclave was charged with o-anisidine (30 mg; 240 pmol) 100 mol%,
ruthenium(IIl) chloride hydrate (120 pl of 2.5 mg/mL solution in acetonitrile; 1.2 umol; 0.5 mol%),
acetonitrile (200 pl) and acetone (22 ul; 17 mg; 290 umol; 120 mol%). The autoclave was sealed, flushed
three times with 10 atm of CO, and then charged with 30 atm CO. The reactor was placed into an oil bath
preheated to 140 °C. After 22 h, the reactor was cooled to room temperature and depressurized. The
reaction mixture was transferred into a flask and the autoclave was washed with dichloromethane
(2x1mL). The solvent was removed under reduced pressure and the residue was analyzed by NMR. Full
conversion, 99% NMR yield (HMDS was used as internal standard). Purification: filtration through a
short silica gel plug: Ry = 0.64, eluent: hexane/ethyl acetate/triethylamine (6:1:0.1); Isolated as a yellow
oil, 39 mg (98%).

'H NMR (CDCls, 400.13 MHz): 8 6.91 (t, J = 7.6 Hz, 1H), 6.80 (d, J = 7.8 Hz, 1H), 6.68 (t, J = 7.8 Hz, 2H), 3.87 (s, 3H), 3.66
(sept, J = 6.2 Hz, 1H), 1.28 (d, J = 6.2 Hz, 6H).

C NMR (101 MHz, CDCl;) & 146.8, 137.4, 121.3, 115.9, 110.3, 109.5, 55.3, 43.8, 23.1

The obtained NMR data was in agreement with the literature report.’

Ethyl 4-(isopropylamino)benzoate (1u)

w“@

A 10 ml stainless steel autoclave was charged with ethyl 4-aminobenzoate (1 g; 6.0 mmol; 100 mol%),
ruthenium(III) chloride hydrate (7.8 mg; 30 umol; 0.5 mol%), acetonitrile (0.8 ml) and acetone (0.53 ml;
420 mg; 7.2 mmol; 120 mol%). The autoclave was sealed, flushed three times with 10 atm of CO, and
then charged with 30 atm CO. The reactor was placed into an oil bath preheated to 140 °C. After 22 h, the
reactor was cooled to room temperature and depressurized. The reaction mixture was transferred into a

8
Zhou, S.; Junge, K.; Addis, D.; Das, S.; Beller, M. A Angew. Chem. Int. Ed. 2009, 48, 9507-9510.

o Reddy, T.J.; Leclair, M.; Proulx, M. Synlett 2005, 583-586.
S16



flask and the autoclave was washed with dichloromethane (2x1mL). The solvent was removed under
reduced pressure and the residue was analyzed by NMR. Full conversion, 98% NMR yield (HMDS was
used as internal standard). Purification: column chromatography, eluent: hexane/ethyl
acetate/triethylamine (6:1:0.1); R¢ = 0.31. Isolated as a yellow oil, 1.112 g (90%).

'H NMR (CDCl,, 400.13 MHz): 5 7.86 (d, J = 8.8 Hz, 2H), 6.52 (d, J = 8.8 Hz, 2H), 4.31 (g, J = 7.1 Hz, 2H), 4.09 (br s, 1H),
3.68 (sept, J = 6.3 Hz, 1H), 1.35 (t, J = 7.1 Hz, 3H), 1.22 (d, J = 6.3 Hz, 6H).

C NMR (400 MHz, CDCl;) § 166.9, 151.1, 131.5, 118.1, 111.7, 60.1, 43.9, 22.7, 14.5.

HRMS (TOF ESI): for [M+H]* (C,H;sNO,") calculated m/z 208.1332, found m/z 208.1329. For
[M+Na]* (C,H;7NNaO,") calculated m/z 230.1151, found 230.1148.

IR (Vimax cm™): NH (3366), CH (2977; 2946; 2904; 2874), C=0 (1687), aromatic C=C (1602; 1530;
1456), aromatic C-H (876; 838; 771; 701).

N-(4-bromophenyl)adamantan-2-amine (1v)

femeN

A 100 ml stainless steel autoclave was charged with 4-bromoaniline (520 mg; 3.03 mmol; 100 mol%),
adamantanone (500 mg; 3.33 mmol; 110 mol%), ruthenium(IIl) chloride hydrate (15.8 mg; 60.5 umol; 2
mol%), acetonitrile (3.2 ml) and 4 A molecular sieves (292 mg). The autoclave was sealed, flushed three
times with 10 atm of CO, and then charged with 30 atm CO. The reactor was placed into an oil bath
preheated to 140 °C. After 22 h, the reactor was cooled to room temperature and depressurized. The
reaction mixture was transferred into a flask and the autoclave was washed with dichloromethane
(2x1mL). The solvent was removed under reduced pressure and the residue was analyzed by NMR. Full
conversion, 93% NMR yield (HMDS was used as internal standard). The pure product was obtained after
crystallization from acetonitrile; the mother liquor was purified by column chromatography, eluent:
toluene/ethyl acetate/triethylamine 20/1/0.1 (R=0.95). Isolated as a white solid, 836 mg (90%). mp=109
°C.

'H NMR (400 MHz, CDCl;) § 7.23 (d, J = 8.6 Hz, 2H), 6.49 (d, J = 8.6 Hz, 2H), 3.50 (s, 1H), 2.01 (s, 2H), 1.93 — 1.75 (m,
10H), 1.61 (d, J = 12.6 Hz, 2H).

C NMR (101 MHz, CDCly) § 146.2, 131.9, 114.7, 108.2, 56.9, 37.6, 37.3, 31.5, 31.4, 27.4, 27.3.

The obtained NMR data was in agreement with the literature report.10

10 Averin, A.D.; Ulanovskaya M.A.; Kovalev V.V.; Buryak, A.K.; Orlinson, B.S.; Novakov, .A.; Beletskaya, I.P. Russ. J. Org. Chem. 2010, 46, 64-72.

S17



'H, °C, "’F NMR, IR and high-resolution
mass spectra of obtained compounds

S18



4-methoxy-N-(4-methoxybenzyl)aniline (1a)

ps-11-1 ITAT =TT N O LN I~ 0 O
MGD 2012 MM OGOy QX O Y NN O 1600
NNO OO O VO T ™M Mo I
——\— N\ /7 1500
1400
-1300
4-methoxy-N-(4-methoxybenzyl)aniline (1a) -1200
CDhds i
400 MHz 1100
-1000
15 o)
16/ \14/17\ CHa L
| I ° c@ © 900
NH 11 13 |
1/6\5/9 \10/ kﬂz/ 6.93 E.78
| | B(d)|| D (d) A dls) 500
S S L
HON N A1 7.33| | 6.83 4.25| 34
© ’ H (=== = ~700
7
E(d) H (s) I
6.65 3.66 -600
500
-400
-300
o I
| | 200
-100
oM |
A -0
& &K o S A th o
oo o cCoooa ~-100
— AN N AN MO
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
11.0 105 100 95 90 85 80 75 70 65 6.0 50 45 40 35 30 25 20 15 1.0 05

S19



psliic < O O —A N N O -
«Q = N a9 S wah g 11000
0 NN N — 00 T < < Q Mm™
N wn MAN — - LN LN o0 L
™ v v M v~ v+ LN N <+
< 0N N~ N/ - 10000
15 0] L
& D CHs 9000
“ |l E -
6 11\ 13
|1|/ \f/g e Y 8000
H 2 4 i
SN e N7
7 - 7000
4-methoxy-N-(4-methoxybenzyl)aniline (1a) |
CDds
101 MHz 6000
5000
- 4000
3000
-2000
| I
T
-1000
-0
~-1000
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
210 200 190 180 170 160 150 140 130 120 110 f11(00) 90 8 70 60 50 40 30 20 10 0 -10
mA

S20



4-methoxy-N-(3-methoxybenzyl)aniline (1b)

1000

~900

800

700

600

500

400

300

200

100

ps-11-2 wETT AL MOANSONLD O oo N
MGD 2012 PN NN MNMNMNWOLWN NN
7 Y NNNWO OO OO 6O 06 o <+ ™mm
I ity iR R
6 NH 11 13, CH
|1|/ \F/g S e Ny e
17
2 4
oS N A
4-methoxy-N-(3-methoxybenzyl)aniline (1b)
CDds
400 MHz
E(m) 1 (s)
6.94 H.72
D (d) G (b) A (s)| B(s)
7.23| | 6.59 4.24| 78
H HH H H
F (dd)
6.78
QQQ
N ™™
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
120 11.5 11.0 105 100 95 9.0 85 8.0 55 50 45 40 35 30 25 20 15 1.0 05 00

S21



AN N
psll2c AN T
NN
N < <
™ v~ v~
R T
15,
1|6/ \|1|4
NH ENGAE CH;
1/‘3\5/9 T N N
[ "
4

7
4-methoxy-N-(3-methoxybenzyl)aniline (1b)
CDhds
101 MHz

<< < AN WO LW X

0o —HQO WY NER TS :

AT T M QAN

AN LN N O 5500

— o N N <

~—y— N I
~ 5000
~4500
~4000
3500
3000
2500
2000
~ 1500
~ 1000
~ 500

Wmmmmmmmemwwwwmmwmmwm-o

~-500

210 200 190 180 170 160 150 140

—71 * 1+ 1.+ 1 *+ 1 * 1+ 1 * I * 1 ‘*v T ‘*t T ‘v T Tt T ‘Tt T T T T
130 120 110 100 9 8 70 60 50 40 30 20 10 0 -10
f1 (ma)

S22



Display Report

Arnalysis knfa
Analysis Mame

DoData\lvanova \DEMN -1 blow.d

Acqguasition Date 25112114 15:53:37

Maihod fune_low.m Cperater EDAL@ODE
Sample Name /LEWVH DEM-1blow strument /| Sergd  miceDTOFE 10248
Commeni CHACKN 100 %,
Boguisition Paramelar
Sodren T!.lﬂ'l' ESl [=]1)] Fﬂlil’ll:’ Fosinva Sai MaDuizer 0o.& Bar
Focus Mol 3o Eat Dry Heater 180 T
Scan Begin 50 miz Hel CapHary 4500 W ot Ory Gas 4.0 limin
Hcan End 000 miz St End Flate Ditsel 500 Y Hat Divert Yalva Wase
Infens.T +ME, 0000, dmin B(1-285
A= 43 2886 |
EE
| 143.1077
755.3618
4812108
ll_
G56.2468
4 |- 1047 4494
l}-. l'L'h_LL'.: T T S I e ¢ B C— ——— . par e R N P R R N N T T . - T -
200 400 £40 BOO 1ang 12000 miz
Intens .. +4E, 0.0-0.dman (1223
el 242 2346
B
23 44, 1335
3 l
13 | 943 2821
y 241.2822 J . I||| [ 245, TEE
o . A gi s i i i
: CIER1THOZ, M=nH 24818
EEOO- 244 1332
20040 =
15002
10005
503 = 2451355
I ) i
: 14 I B45.1398
o - - - : — - -
240 241 24z 24T 244 345 4B 47 it
Bruker Campass Datahnalysis &0 printed: 25.11.2014 1606:39 Page 1 af t



1b

File Name C:\USERS\LENOVO\DESKTOP\EAAI EE\REDUCTIVE AMINATION PURE\IR\2014.12.02\1B.SMF.TXT
Date 03 Dec 2014 13:42:46 Technique Infrared Spectral Region NIR-IR
X Axis Wavenumber (cm-1) Y Axis %Transmittance Spectrum Range 349.1309 - 5000.6699
Points Count 4824 Data Spacing 0.9644
©
| N~
E ~
3 [}
— (3] N~
1 2 i
120 3 L 3
E o/
] v Q¢
] Y &
110 - 9
100 §
] A
90 I e
] Ll /28 1
: g 28 |°%] gES
3 ¢ |38 z X *
| w W
] n N ©
] N X
[ I
70 )

%Transmittance
(2]
o
92 ¢St

— 1
2000 1000
Wavenumber (cm-1)

—
3000

P4
o

cm-1 %T Intensity

693.44 | 88.102

784.10 | 88.044

821.71 | 86.276

1038.71 | 81.533

1152.52 | 93.385

1179.52 | 93.232

1248.00 | 76.224

O INO|O |~ =

1437.03 | 88.368

©

1456.32 | 84.803

_
o

1512.26 | 69.862

_
—_

1585.55 | 89.288

e
N

1600.99 | 88.576

—_
w

2834.52 | 105.452

—
>

2939.64 | 107.925

_
(6]

2998.47 | 111.476

sisiziz|in|o|glo|lo|nz|z|v|olnln

—_
(o2}

3397.76 | 117.434

S24



4-methoxy-N-(2-methoxybenzyl)aniline (1c)

pn373ct

MHOWOUTIMN—EANAOONLYM O N LN |
MO ANNOOONOONN WOV M 0N 1200
NNNNNOWOWOOOOUO OO <+ M

4-methaxy-N-{2-methoxybenzyl)aniline (1c) 1100

CDd;

400 MHz L1000

15,
H3C/8\16/ S -900
6 1|\8|H 1|1 |1|3 //
. I
1/ \5/9 \10/ \12/
I | 800
H 2 4
3?\0/ N7
7 700
E()| |[H() B (k)
7.26| | 6.64 147
- 600
D (d)|| G (m) A(s)| |[](s)
7.32|| 6.78 430 || 4.75
H —HH f 500
F (dd)
6.92
400
~300
L 200
I
|I
100
UL JL,JJUL — Lo
& i 1A Ih O & S'd
Q- aoaoa aaQ
O v ™ v - M mM ~-100
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
12.0 115 11.0 105 100 9.5 9.0 85 8.0 7.5 70 6.5 ﬂ%o) 5.5 50 45 4.0 3.5 3.0 2.5 2.0 1.5 1.0 0.5 0.0
MA

S25



pn373ch oM~ - MOAOANMOMINL
TN QAN YA bl B
NN OOONO Y T O QM
NIt ANANANAN—A— — LN <t
1 v Lo B o B o B R IR B | LN LN <
SN =y = N I
15,
H3C/1O7\16/ \14
. |l
6. 11\ 13
|1|/ \F/g \10/ \12/
H 2 4
SN e ~N7
7
4-methoxy-N-(2-methoxybenzylaniline (1c)
CDds |
101 MHz
|
|
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
210 200 190 180 170 160 150 140 130 120 110 f11(00) 9 80 70 60 50 40 30 20 10 -10
ma

11000

10000

~9000

~8000

7000

~ 6000

~ 5000

4000

~3000

2000

—1000

-1000

S26



2,2,2-trifluoro-N-(4-fluorobenzyl)-N-(4-methoxyphenyl)acetamide (1d)

160
R M= L~ 00WAaWOM— O ~N ~
PN-352 pure MMNN—SSaaaRR O N !
NNNNNNNWOOOUOVO < ™M I
2|2/2Ij 0 15 F -140
_ L
F \18/19 16/ \14/17 |
» | | | 130
6. ﬁ\ 13 -
”/ \r/’g‘\m/ N -
~120
H 2 4
N e N7 i
4 -110
2,2, 2-trifluoro-N-(4-fluorobenzyl)-N-(4-methoxyphenyl)acetamide (1d) I
CDd; -100
300 MHz I
-90
D (t) I
7.08 -80
C (dd)| F (d) A(s) H () I
7.29 | 6.79 497 177 ~70
[ === A L
E [m) B
696 [0
50
- 40
30
Lol I
' 20
L J —10
Y g
A6 & B & & -
"QoQ Q Q ~-10
N - M ~ ™M
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
120 115 11.0 105 100 95 90 85 80 75 7.0 6.5 ] ez.o) 55 50 45 40 35 30 25 20 15 1.0 05 00
1 (ma

S27



PN-352 pure — ﬂ |
F19CPD F © S
jz/ ; o) 15 F 8 ¥ 240
F \18%19 1 S | | I
» | | I 220
6 11 13
|1|/ \f/’g‘\m/ N, _
- 200
H 2 4
NN i
7
2,2, 2-trifluoro-N4-flucrobenzyl HMN-{4-methaxyphenyDacetamide (1d) 180
Dl i
282 MHz 160
| - 140
120
- 100
80
- 60
- 40
20
L B
-20
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
100 90 80 70 60 50 40 30 20 10 0 -10 -gO( -3;) 40 -50 -60 -70 -80 -90 -100 -120 -140
1 (ppm

S28



4) PMPNH2 c 4F 6eHsanbuer1%)er@T@a|@|@B@H

-7000

~6500

~6000

5500

5000

4500

4000

3500

3000

2500

2000

1500

1000

500

~-500

PRAU-YIINNANTNGR
.oV Mo AcowuYy mmnaNaanmMmQ— DY =
NOAANNNUOA-HO00dTrTrFaNaANBLL T MW ™
OChOLMLBLLMMMOONNNNN—S A~~~ L0 o))
e T m—————— NN I
2,2, 2-trifluoro-N-(4-fluorobenzyl)-N-(4-methoxyphenyl)acetamide (1d)
CDds
101 MHz
5
| _~ F
221 _0 15 F
F/ \18%‘9 16/ \14/‘7
2 |l
6. ﬁ\ 13
|1|/ \f/'g‘\m/ N,
H 2 4
35\0/\3/
7
|
|
f'& |
Sl J v I.
T T T T 7 T T 1T T 1T T 7T T T T T T T 1T T T | T T T 7
210 200 190 180 170 160 150 140 130 120 110 ﬂ}?O) 90 80 70 60 50 40 30 20 10 -10
mA

S29



Display Report

Arnalysis knfa
Analysis Mame

Acquasition Date 25112014 16:24:30

DaData\lvanovalDEM-Td.d

Maihod fune_wide.m Cperater EDAL@ODE
Sample Namea /LEVH DEN-1d Ensbrumant ! Sacg miceDTOF 10248
Cammeni CHAICN 100 %, dil 20d
Boguisition Paramelar
Souree Type ESl lan Falarily Positiva Sot Naouizer 0.4 Bar
Focus Mol 3o Eat Dry Heater 180 T
Saan Begin 50 mi2 Hel Capiany 4500 W Sul Dry Gas 4.0 Iimiin
Scan End 3000 miz St End Flate Dilfsal S00 Y Sal Divert Valva W e
tnfins . +E, DUD dman 82285
A |
BY2.5020
5‘.
F 38,3203
2.
TE4.5T3E
4 53,2084
1=
ahal.7add
BES 4345
i
[} T
k[He 400 500G ] oo 2o L 1000 i I
Inhens . +PME, 00D diman @2 EE:-:
il SE0OTET
1.003
0.743
“-5'3'3 351 2665
0.25 3 &
2 523-}1'5'51 330, 2996 aag 5945  41.2566 44,2182 i AEL.2HN4
= i i ke - & b A
0002 C1GH1SEANCIE, MnH 926,10
IS
: 3FH.0555
20i07
10002
l:-: i
E C1EHT13F4M0T, M-niNa 350.08
3 3500775
E000-
10’
o= : ' ' : A .
335 330 335 340 Z45 S50 355 ML
Bruker Campass Datahnalysis 4.0 printed: 25.11.2014 16:41:14 Page 1 af t




1d

Title 1d |
File Name C:\USERS\LENOVO\DESKTOP\EAA[ EE\REDUCTIVE AMINATION PURE\IR\2014.12.02\1D.SMF.TXT
Date 03 Dec 2014 13:42:56 Technique Infrared Spectral Region NIR-IR
X Axis Wavenumber (cm-1) Y Axis Y% Transmittance Spectrum Range 349.1309 - 5000.6699
Points Count 4824 Data Spacing 0.9644
110 & &
P —
& 2
105 V
100
n
o
g ! :
90 & ,\L\Ng > .
Q ©®© R
85 QEB
80 B
> ~ 8
75 | S LEo &
N 3 SO R‘ @
&S | g | 28 51
< A - S a | |
70 n oo o Y’® 28 > o
N S ® N e © B
N P B S
65 N 3 BN N
§ 60
8
= 55
2
s 50
'_
*
45
40
35
30
25
20
15
10
5
0
— — —
3000 2000 1000
Wavenumber (cm-1)
No | cm-1 %T Intensity || No | cm-1 %T Intensity
1 | 549.74 | 71.101 S 11| 1507.43 | 72.267 S
2 | 694.40 | 70.865 S 12 | 1600.02 | 79.985 S
3 | 838.11 72.254 S 13 | 1703.22 | 76.822 S
4 | 880.54 | 76.854 S 14 | 2049.46 | 99.549 w
5 | 998.21 | 74.185 S 15 | 2551.93 | 102.134 w
6 | 1036.78 | 74.338 S 16 | 2841.27 | 92.090 M
7 | 1174.70 | 72.150 S 17 | 2941.57 | 91.284 M
8 | 1359.87 | 82.193 S 18 | 2967.61 | 91.227 M
9 | 1418.71 | 77.464 S 19 | 3065.02 | 95.399 M
10 | 1457.28 | 76.442 S 20 | 3373.64 | 101.900 w

S31



N-(3-fluorobenzyl)-4-methoxyaniline (1e)

1300

1200

~1100

1000

~900

800

700

600

500

400

300

~200

100

~-100

pn342chz MEAONOVOWOMANOOOMANON O ¥
mMoANNANA—SH0o0000aNNYVOIN M N
NNNNNNNNNOOOBOBOBOBOY < ™
N-(3-fluorobenzyl)-4-methoxyaniline (1e)
CDds
300 MHz
F
17
|
15,
1|6/ \|1|4 / /
6. NH N 13
f{// Q§§f//’9 07 T
H 2 4
SN e N
7 D (dd)|| G (d)
7.12 || 6.58
C(m)|| F(d) A(s)| | B(s)
7.29 || 6.78 4.30| | 374
H—EH H H
E (dd)
6.96
&S b
o o
— ~
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
120 115 11.0 105 100 95 9.0 85 8.0 55 50 45 40 35 30 25 20 15 1.0 05

S32



pn342ch2 o0 |
(32] 3500
F19CPD F A
17 o
1I5 ! r
1|6/ \|1|4 |
NH 11 13 ~ 3000
|1|/6\|5/ AN e
2 4 L
HC AN A
7
N-(3-fluorobenzyl)-4-methoxyaniline (1e) 2500
CDds
282 MHz |
-2000
1500
-1000
500
B ’
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
70 60 50 40 30 20 10 0 -10 -20 -30 -40 -50 -60 -70 -80 -90 -100
f1 (ma)

S33



pn342ch2 OO NOTOVITONOVO T AN
ToOoMOVOO——-OxoOoam—— o M oM < ~ 12000
tf-aaNANNocoNNYE &< M @« N —
ovoumngTaaTomoomAaNNNAA—A—A - N ©0 ™M
A A A AT A A A A A A n < N
N SN YV e=——— [ I -11000
N-(3-fluorobenzyl)-4-methoxyaniline (1e)
CDds ~10000
101 MHz
9000
F
17
. 8000
1|6/ \|1|4
6: NH T 13 7000
|1|/ \|5/9 \10/ \12/
H 2 4 L
Sg\o/ \3/ 6000
7
5000
~4000
~3000
| - 2000
|
. | | -1000
|
I o
~-1000

——— T T T T T~ T *~ T ~ T T T~ T T~ T " T T~ T " T "~ T T T T~ T T T "~ T T T T T T T T T
210 200 190 180 170 160 150 140 130 120 110 f11(00 ) 90 80 70 60 50 40 30 20 10 0 -10
MA

S34



amuz meTadTopbersansaerig ¢ nmn NH2 8 r'\\l g (_'-Q m 8 S 8 8 g g 8 8 g pos gc') 8 800
F19CPD NNNNNNNNOGOOYOYOOWw ™ -
T\ | | L 750
F F -
2|2/ F v ~700
20 23 _0 15
~
F/ \18 19 16/ \14 -
2 | | I - 650
11 13 L
1/6\5/’9\1\10/ kﬁ/
” | 600
O AN A / |
0 3 550
2,2, 2-trifluoro-N-(3-fluorobenzyl)-N-(4-methoxyphenyl)acetamide (1e) 500
CDds I
300 MHz - 450
D (ddd) L
6.97
~400
C(m) A(s) g (s) -
7.26 4.84 3.80 L350
H —H |
E (d)
6.82 300
250
200
150
| 100
| 50
- AL I L/\ L\ Lo
§ Q9 é é -0
— N N o (q\l
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
120 115 11.0 105 100 95 90 85 80 75 70 65 55 50 45 40 35 30 25 20 15 1.0 05

S35



amung metadtopbeHzansaerna ¢ nmn NH2 150

F19CPD
140

—10.57
—-34.80

130
2,2, 2-trifluoro-N-(3-fluorobenzyl)-N-(4-methoxyphenyl)acetamide (1e)

CDds

282 MHz 120

F F -110
N A AN ;100
21
/6\/21\ /11§ /13 _90
i »
-70
-60
-50
-40
-30
-20

10

-10

—— T T T T T~ T T~ T *~ T T~ T *~ T T T T~ T T T T~ T " T T T T T T T T T T T T T T T T T 1
55 50 45 40 35 30 25 20 15 10 5 0 f1(-5) -0 -15 -20 -25 -30 -35 40 45 -50 -55 -60
MA

S36



?24000
23000
}22000
21000
;20000
;19000
;18000
}17000
16000
}15000
14000
}13000
12000
;11000
}10000
~9000
}8000
7000
}6000
5000
}4000
3000
;2000
}1000

—-1000

amuma MeTa¢Top6eH3anb®§Mgc %n NH2 IQ Q 8 8 %'\V') ‘g\l\ 8 ;v—}’ 8 ‘rv\l_’ o~ I~
FL9CPD < i ) N SOgI06onins . 9
O O LN o™ MmMANANNA A A A LN LN
M v~ v+ i R B o B o B o o B o I s B o B o I | LN LN
NN/ I N BN \ee—— N’
2,2, 2-trifluoro-N-(3-fluorobenzyl)-N-(4-methoxyphenyl)acetamide (1e)
CDds
75 MHz
F
22
g
20
F// ~ 167 14
21 | |
6 11\ 13
|1|// Q§§f// R
H 2 4
Sg\\cf// \\\544
7
Il
|
Il
|
| LWMWMWM&
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
185 175 165 155 145 135 125 f%%S ) 105 95 90 8 8 75 70 65 60 55 50 45
mA

~-2000

S37



2,2,2-trifluoro-N-(2-fluorobenzyl)-N-(4-methoxyphenyl)acetamide (1f)

PN-409 pure TH OO WOUWMANAONOOLL AN IN o]
MO ANNAN—TOOCSTTOTOON O N 320
NNNNNNNNNOOOOO T ™M I
— L L L L P L S R S —
2,2, 2-trifluoro-N-(2-fluorobenzyl)-N-(4-methoxyphenyl)acetamide (1f) I
CDds - 280
300 MHz I
- 260
F L
FT L
23/19\ _0 P 240
18720 7 Xy, r
2 | | | - 220
6 11 /15 L
/\5/21\10/ ~& -
9’ | | |F G (d) 200
2 4 L
3g'\ O/ \3/ F 6.98 .
180
7 D (t) I
7.09
160
C(m)| F(d) A(s) g (s) I
7.29 | 6.80 4.97 378 L
H HEH H 140
E (d) |
6.94 120
-100
80
~60
-40
20
e . Y U
& & '
Q < ~-20
~ ™M
— :

120 115 11.0 105 100 95 90 85 8.0

60 55 50 45 40 35 30 25 20 15 10 05
f1 (mp)

S38



PN-409 pure F — A
F19CPD F T © S I
23 g le) 13 o <
F/ ST T Ny, — i
21 | ” | | | ~90
6 11 / 15
|1|/ \f/'g'\m/ \1|6/ _
H 2 4 F 80
380\ O/ ~NF 17
7 L
2,2 2-riflucro-hH2-flucrobenzy H-(4-methoxyphenyllacetamide (1) i
CDCl 70
282 MHz |
60
- 50
40
-30
20
-10
L N -0
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
100 90 8 70 60 50 40 30 20 10 0 -10 -fzo( -3)0 40 -50 -60 -70 -80 -90 -100 -120 -140
1 (ppm

S39



~9000

8000

7000

6000

5000

4000

3000

2000

1000

om.w¢
mm.w¢v
LE'SG —

€L'9L
S0°ZL V
mm.mm /

8T HTT
SO'GTT
CeSTT
bGGTT
¢6°LTT
€eeen
8€"TeT /
LEVTT
Q'veT ”
62T ~
&rocT
10T
$8'0€T
®'1ET
B TET
%/'9ST
€I'LST
£y [ST
&8'/ST ]
87651 \
I8'6ST \

£C'91

2

6) PMP

2,2, 2-trifluora-N-(2-fluorobenzyl)-N-(4-methoxyphenyl)acetamide (1f)

CDAs

101 MHz

160 150 140 130 120 110 100 90 80 70 60 50 40 30
f1 (ma)

170

S40



Display Report

Arnalysis knfa

Analysis Mame
Maihed

CoDatat v Enoval DEM -5 law.d
fune_wide.m

Acguisition Dabe 251120714 16:22:01

Cperater BOAL@MOE

Sample Mame /LEVH DEM-T flkya strument ! Sarg . micrDTOF 10Zd4R
Cammeni CHICHN 100 %, dil 200
Boguisition Paramelar
Souree Type EGl lan Falarily Fositive St Maouizer 0.8 Bar
Focus Mol 3o Eat Dry Heater 180 T
Saan Begin 50 mi2 Hel Capiany 4500 W et Dry Gas 4.0 limiin
Scan End 3000 miz2 Sat End Flate Dilfsal E=1iER Sar Divert Yalva Wasw
infars SHE &7 Amin #(45.55)
as0.0783
E000 -
E000-
+000 =
ETT. 1555
2000«
: A13.2670 g nocg
TEdEELE o 1t z.525T
& e e [Ty e[ Tl r Sy eryoy oo TR R S e e MR e Sl S TS e b B B B Bk mee s oo e 1 T
£ [HE] 400 L iie] B0 Tog (1] ang 100 iz
Intens .5 +ME, 025 0min #[45-59%
s A50.07ES
I].TE-E.
01503 =
3 3280963
0.25=
: | . 3s233mm s | 2532862 360.3271
et CAGBH1ZFANOEZ, ManH 328101
: 3280855
2n00-
1000+
= i
r C1EHT13F4N0Z, M-nia 350,08
2 350.0775H
a1 el
10’
o ' ' ' ' . = .
25 330 135 340 345 350 355 360 miz
Bruker Campass Datahnalysis &0 printed: 25.11.2014 162848 Page 1 af t



1f

Title 1f |
File Name C:\USERS\LENOVO\DESKTOP\EAAI EE\REDUCTIVE AMINATION PURE\IR\2014.12.02\1F.SMF.TXT
Date 03 Dec 2014 13:43:06 Technique Infrared Spectral Region NIR-IR
X Axis Wavenumber (cm-1) Y Axis %T ransmittance Spectrum Range 349.1309 - 5000.6699
Points Count 4824 Data Spacing 0.9644
1 ©
120 1 @ > S
] © o =] o
= @ [¥e) - <
1 <) ;
B “u“ Y
110 V
100 7
] w
7 o
| [}
] o |
©
90 ] o gl\\J §
3 o8 =
] ; N
9 [o}
80 i <AivE
1 o L »
] S O [+ | |
1 o | ~
S SIS S
70 1 S LYG Ly 9 g ©F G =
E TN LLg oS BY TN
3 E 3 a S V1292 ol Pasm
3] B N =N o | LZ2eoe & 3 9l
= ] Q an ® 225900 o (O MO
£ 557 N 2%  Bapg 23353
£ 60 - & g amct T2e s
g2 go R
© |
I—o |
® 50 1
40 1
30 4
20 1
- T ‘ T T ‘ T T ‘ T
3000 2000 1000
Wavenumber (cm-1)
No| cm-1 %T Intensity || No | cm-1 %T Intensity
1 441.72 | 74.660 S 16 | 1300.08 | 72.521 S
2 | 531.41 73.258 S 17 | 1362.77 | 79.547 S
3 | 545.88 | 68.495 VS 18 | 1457.28 | 71.315 S
4 | 589.28 | 74.960 S 19 | 1510.33 | 66.904 'S}
5 | 624.96 | 67.036 VS 20 | 1587.48 | 78.301 S
6 | 646.18 | 74.274 S 21| 1608.70 | 79.918 S
7 | 730.09 | 68.123 VS 22 | 1702.25 | 68.474 VS
8 | 759.02 | 64.893 VS 23 | 2050.42 | 105.441 W
9 | 798.56 | 75.943 S 24 | 2310.82 | 109.042 w
10 | 838.11 | 68.050 VS 25 | 2552.90 | 108.646 W
11| 976.99 | 71.709 S 26 | 2841.27 | 92.086 M
12 | 1035.82 | 69.587 VS 27 | 2938.68 | 90.239 M
13 | 1106.22 | 68.963 VS 28 | 2961.82 | 90.467 M
14 | 1151.55 | 66.427 VS 29 | 3066.95 | 99.245 M
15 | 1205.56 | 65.537 VS 30 | 3381.36 | 110.343 W

S42



N-(2-chlorobenzyl)-2,2,2-trifluoro-N-(4-methoxyphenyl)acetamide (1g)

pn460t COCVWUOUMILANAN-HOLL MOMN N 0
nmMAaANANANANNANGONK Q ™
/*3\/0\ NNNNNNNNOOOOIN ™M
Cl 1|4 |1|2 5 " CH, e
19 16 e
|
6 7 9\ 11
1/// \\\5/// \\\bf// \\\10//
I i
2 4
Z
~7 F \1i8/21
20
: [ (
N-(2-chlorobenzyl)-2,2,2-trifluoro-N-{4-methoxyphenyl)acetamide(1g)
CDds
400 MHz
D (d)
6.94
C(d) A(s) B (s)
6.78 .07 178
b H H
E (m)
7.24
|
|
l UL | JK_
LSS & &
Mmoo o) S
< NN — ™M
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
12.5 11.5 10.5 95 90 85 80 75 70 f16.(5 )6.0 55 50 45 40 35 30 25 20 15 10 05 0.0
ma

;360
340
=320
300
=280
;260
240
;220
200
180
160
140
;120
100
~80

60

40

20

S43



pn525ch

N-(2-chlorobenzyl)-2,2,2-trifluoro-N-(4-methoxyphenylacetamide (1g)

CDAs
282 MHz

—10.72

380
-360
-340
-320
300
- 280
- 260
- 240
-220
200
180
- 160
- 140
120
100
50
-60
-40

20

20
f1 (ma)

~-20

S44



pn460b ™~ O MO M I aan
N ”RNQWYWWYVY Y o AN
a A-HO oo N mA I
h O NNNCNH 1N o
~—i R B s B s T e M T I s N N 10000
I e N/
N-(2-chlorobenzyl)-2,2,2-trifluoro-N-(4-methoxyphenyl)acetamide (1g) L9000
CDds
101 MHz I
13 @) -
cl T CHs 8000
i Co ;
6: 7 9: 1
X
1/ \5/ \N/ 10 ~7000
I Fe
2, /4 /17 B
\3/ \1|e/21
20 6000
F
22 B
5000
- 4000
3000
! -2000
| | '
' 1000
-0
~-1000

210 200 190 180 170 160 150 140 130 120 110 f11(00) 90 80 70 60 50 40 30 20 10 0 -10
ma

S45



Display Report

Analysis infa

Arialysis Mame
Mathod

DhData\Kelolyrking 2014\ Titowh1 203023 o
lune low.m

Acquisition Date 03122074 18:33:12

Operabar BOAL@OE

Sample Name /LEGE PR-525ch mstrument ! Serd  mictOTOF 10248
Cammeni CIH1ACINDG mw 247 galibrant added
Acquisition Pararmneier
Souree Type EEl lon Palarily Positive Soi Nabuizer 0.4 Bar
Focus Mol aone el Dry Heater 180 "G
Saan Begin 50 mi2 Hal Capiany 4500 W SarDry Gas 4.0 Ifmin
Scan End 3000 mi2 Sat End Flale Dilfsal E00 Y Sar Divert Yalva Wase
intins . +ME, .10 5min 8356}
0=
J44.088 1
3_-
JES.0477
i-_
1 351 0a23
. 3460633
35,0453
3630900
3710833
) l 730822
NP 1 ¥ o e
340 345 350 355 ] 1E] aes a7n 3F5  miz
Bruker Campass Datahnalysis &0 prinbed: 03.12.2014 188721 Page 1alt



19

Title 1g File Name H:\KOLESNIKOV\PN-5250H.CSV \ Date 05 Dec 2014 15:57:12
Technique Infrared Spectral Region 1R \ X Axis Wavenumber (cm-1)

Y Axis Arbitrary Spectrum Range 399.1990 - 4001.6321 ‘ Points Count 1869

Data Spacing 1.9285

o2}
o
e bre b b b bene b b b b b b b b e e b b B iy

Arbitrary

N

o
1000 94
29Ot

24

T 9%

44 d

o
INEm

\ \
3000 2000
Wavenumber (cm-1)

P4
o

cm-1 Arbitrary | Intensity || No | cm-1 Arbitrary | Intensity

1153.24 | 6.279 12| 1608.37 | 56.423 S

1180.24 | 6.214 13 1700.93 | 6.205 VW

1205.31 5.358 14 | 2341.20 | 71.632

1251.59 | 10.549 15 | 2360.48 | 67.666

1299.81 | 34.666 16 | 2840.68 | 67.943

1444.44 | 25.980 18 | 2960.24 | 64.084

1477.23 | 43.118 19 | 3006.53 | 73.296

O O|NoO|O |~ W IN|—

S
S
S
1357.66 | 63.452 17 | 2937.10 | 63.036 S
S
S
S

1511.94 | 6.172 20 | 3066.31 | 74.676

1575.58 | 69.024 21 | 3376.80 | 82.441 VS

w02z 5032333

- =
)

1585.22 | 61.868

S47



N-benzyl-4-methoxyaniline (1h)

850
;800
;750
;700
- 650
;600
;550
;500
;450
;400
;350
;300
250
;200
;150
;100

=50

pn376ck M—=O0ONMAN O T O I ™M (¢ o]
L TTETOHMMM AN QOO f4p) I
1 Y NNNNNNNGOOOVO < M
S e |
NH 11\ 13
|1|/6\|5/9 S
H3g\o/2\3/4
7
[
N-benzyl-4-methoxyaniline (1h)
CDds
400 MHz
E (ddd) D (d)
7.35 6.65
C(d) A(s)| | H(s)
6.82 433| | 3.78
H— HH H
M
I
|
J UL l JULL_ A A.-JL,.,.« __.
& b o S &
o oo ot S
< o (@] (a1
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
120 115 110 105 100 95 90 85 80 75 7.0 65 55 50 45 40 35 30 25 20 15 1.0 05

6.0
f1 (ma)

S48



4000

3500

~3000

2500

2000

~ 1500

~1000

500

pn376¢ch AOON MO~ ONM
TN enao [N
N-benzyl-4-methoxyaniline (1h) N INKRI Y 5 o
101 MHz N I
15,
1|6/ \|1|4
6. NH NG 13
|1|/ \F/g \10/ \12/
Hggl\\cy//2\\\ =
3
C
|
|
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
210 200 190 180 170 160 150 140 130 120 110 ﬂ}?O) 90 80 70 60 50 40 30 20 10 -10
M

~-500

S49



4-methoxy-N-(4-methylbenzyl)aniline (1i)

PN-378 pure AN R3D S A -450
4-methoxy-N-(4-methylbenzyl)aniline (1i) NNNNOOOO T ™ ~
CDd; = e I I I
300 MHz
- 400
15 CH
e
350
6. NH 11 13
|1|/ \|5/9 ~i0” \12/
HCL A1
o : 300
c(d)|| E@) 20
7.17|| 6.64
B (d)|| D (d) A(s)|| A(s) G (s)
7.28]| 6.80 4.25|| .76 2.36 - 200
HH HH H H
150
100
| |
| |
- 50
N il i | .
B S ch o L X
Qoo a < o
NN AN - ™ ~
T 1

T T T T T T T T T T T T T T T T T T T
120 115 11.0 105 100 95 90 85 8.0 75 7.0 6.5 55 50 45 40 35 30 25 20 15 1.0 0.5

6.0
f1 (ma)

S50



7) PMPNH2 ¢ Tonunanbaernaom

-~152.33
142.21
136.88
136.40

—
4-methoxy-N-(4-methylbenzyl)aniline (1i)

CDhd;

101 MHz

129.30
~127.65

114.91
N114.37

4000

—55.82
—49.17
—21.14

~3500

~3000

2500

2000

~ 1500

~1000

500

NWWMWMWMIJ

210 200 190 180 170 160 150 140

130 120 110 100 90 80

f1 (ma)

S51



4-methoxy-N-(thiophen-2-ylmethyl)aniline (1j)

PN276 2 ch MeEA A ONONON T [oe) t)
F190PD NANNOOOO XN © WO < KN~ L 3500
NNNNOOOOOBOO <+ m ™ I
4-methoxy-N-(thiophen-2-ylmethyl)aniline (1j) ————— = | |
CDU3 ~3000
300 MHz I
2800
O / / - 2600
o
11 r
2 4 6 - 2400
/12§i/ \NH/ \5/ -
3
13
N - 2200
14/185 o
2000
B (d) -‘1800
6.80
-1600
D (m)|| A (d) E (s) H(s)| | G(s) L
7.22 | 6.66 448| | 3476/ 3.16
H L HE =] [ S— ~ 1400
C (dd) I
6.98 ~1200
~1000
-800
- 600
| I
. -400
200
L -0
B G oS & S5 [
0 QQ < Q < ~-200
onNAN N N ™ — |
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
125 11.5 10.5 95 90 85 80 7.5 7.0f (6.5) 60 55 50 45 40 35 30 25 20 15 10 05 00
1 (ma

S52



— Q) O
pn480 ~ & ¥
F19CPD . o I

s \7/*°\CH3 Ny
Y
7
/wz§i/ \IS\IH \5/
13
N\ _s
14 15

4-methoxy-N-(thiophen-2-ylmethyl)aniline (1)
CDds
75 MHz

126.85

\

125.09
124.63

oo

114.84
—55.75
—44.60

220 210 200 190 180 170 160 150

140

130

120

r— -~ r. 1.+ 1.+ 1+ 1+ 1.+ 1 ‘* 1 ‘' 1 ‘' T ‘Tt T ‘Tt T T
110 100 9 8 70 60 50 40 30 20 10 0 -10
f1 (ma)

S53



Q

N-(4-(benzyloxy)benzyl)-4-methoxyanilin

- N
PN-375 pure - <
™~

7.45
7.30

-
YM
NN
| S —

r7.38
r7.35

[—

[

(1k)

L 6.82
L 6.80

L 6.66
l6.63

gf 7.33

N-(4-(benzyloxy)benzyl)-4-methoxyaniline (1k)
CDds
300 MHz

3-7.26
1 6.99
L 6.96

E (d)
6.98

D (ddd)
7.39

F(d)
6.81

=

H

G (d)
6.64

—5.08
—4.23

3.76

B (s)
5.08

A (s)
4.23

q(s)
3.76

220
210
200
190
180
;170
160
150
140
130
~120
110
100
=90

80

~70
60
=50
40
=30
~20

120 115 110 105 100 95 9.0 85

S54



™M WY O WSS == INANIN
5) PMPNHZC46€H3MHOKCM68H3aHbﬂel8iOE;- NSBRHOLOI ™ N O 0N o o0 - 40000
ONANN—=00ONT T THRNe o
mm<romnmoemnm NN N A A NN WO O Ln o0
A A A A A~ NINNN n < r
R = ~—— | |
N-(4-(benzyloxy)benzyl)-4-methoxyaniline (1k) 5 | 22000
CDd; 2 a
101 MHz ki
15 (o) 19 21
1|6/ \|1|4/*7\18/ \20/ - 30000
6 NH 11\ 13
|1|/ \f/g NS e I
Ha G 5 ~NA - 25000
7
20000
| - 15000
10000
| |
|
~ 5000
R AR AT WWWMWMWMWMW«WWWMW—O

210 200 190 180 170 160

r——— T T T ‘T T T T T T T T ‘T T T T T T T T T T T T T T T T T T T T T
150 140 130 120 110 f11(00 ) 90 80 70 60 50 40 30 20 10 0 -10
mMA

S55



Display Report

Analysis knld Acguistion Date 25112014 17:08:01
Arialygis Mame  DiData\lvarova\DensChusowniDEN-1k.d
Maihod lune low.m Operabar BDAL@DOE
Sample Name /LEVH DEN-1k msbrument ! Seargd . micrDOTOF 10248
Cammeni CHAICH 100 %, dil 200
Acquisition Parametar
Souren Type ESl lon Balarily Positive Soi Nabuizer 0.4 Bar
Focus Mo dodine Sol Dry Hoater 180 G
Hean Begin 50 miz Hel CapHary 4500 W Lot Ory Gas 4.0 Imin
Scan End 3000 mi2 Sat End Flale Dilfsal E00 Y Sar Divert Yalva Wase
infRns.? +HE G050 dman Bi1:21)
3581430
&0il0-
3809542
400
=i 3191590
| AZ1.1ETS
172416 L 3EIATIE
o - et - ' i - - - - :
318 ala =20 a34 miz
Intans - +ME, 000 dman (121}
ad]
J1B.1480
0.6
; 3201842
0.4-
0.2=
B c' l | 3020947 336.1585 au',”‘“ AG0ATTT
: CETHETHOL, Mnf 220.17|
- 2809645
zo00:
1004 -
- I
< C2HEZINGZ, Menbla 342,05
4 3421485
2000
o3
LB : : : J' . .
33 LR 330 335 345 350 miz

Bruker Campass Datahnalysis &0 prinbed:

25.11.2014 17:57:18

Page 1alt




1k

Title 1k |
File Name C:\USERS\LENOVO\DESKTOP\EAAI EE\REDUCTIVE AMINATION PURE\IR\2014.12.02\1K.SMF.TXT
Date 03 Dec 2014 13:43:22 Technique Infrared Spectral Region NIR-IR
X Axis Wavenumber (cm-1) Y Axis %Transmittance Spectrum Range 349.1309 - 5000.6699
Points Count 4824 Data Spacing 0.9644
65
60 -
N w
i w
4 O
, N
55 &
g )
§ ] 3 [
£ 50 1 &l | g \
£ ] || o/ A [
2 ] 2l S8 o @ =
= 4 || O SW O N No L
s o wo ® || & 8N5¢
® S PE Bl 3REE
] | o N ° e R |
o o ONBouxnQ
45 8 ‘E‘ 8 3 NN
] w o aZ P
4 N [}
- [}
40 1
35
30 -
a T ‘ T T ‘ T T ‘ T T ‘ T
4000 3000 2000 1000
Wavenumber (cm-1)
No| cm-1 %T | Intensity || No | cm-1 %T | Intensity
1 | 698.26 | 46.387 S 11 | 1506.47 | 47.769 S
2 | 737.80 | 46.616 S 12 | 1558.55 | 50.012 S
3 | 757.09 | 46.719 S 13 | 1653.07 | 50.960 S
4 | 820.75 | 46.884 S 14 | 1683.93 | 50.506 S
5 | 999.17 | 48.440 S 15 | 1700.32 | 50.483 S
6 | 1033.89 | 48.961 S 16 | 2852.84 | 50.169 S
7 | 1157.34 | 49.976 S 17 | 2923.25 | 46.300 S
8 | 1235.46 | 49.686 S 18 | 2952.18 | 51.759 S
9 | 1374.34 | 50.069 S 19 | 3392.93 | 58.256 M
10 | 1456.32 | 47.285 S

S57



4-methoxy-N-(naphthalen-2-ylmethyl)aniline (11)

pn366¢tk OT 1T MO NN O LN O O
QR QLWL T QN OO A m
NNNNNNNWLWOOO < m
T N |

4-methaxy-N-(naphthalen-2-ylmethylaniline (11)

CDd;

13 0]
300 MHz N TS CH,
| | 20
6 7 9\ 11
|1|/ \f/ N
8
/2\ /4
[
17\ /19
18
D (dd) F (d)
7.50 6.66

q@® E (d) A(s) B (s)
.84 6.81 446| | 376
H i HH 5
SL AN & &
QQ QQ a Q
+T N NN — ™M

T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T

11.5 10.5 95 9.0 85 80 75 7.0 65 6.0f (5.5) 50 45 40 35 30 25 20 15 1.0 05 00 -05 -1.0
1 (ma

300

250

200

150

100

=50

S58



pn366¢h TOOWMAOMOIT NINOMLLLM
N ANINKNMON 0NN Mo ® Q0 oM
NANMANONNWGL LWL LN = © «Q ¥
Nt mmmmAaNNNNNNN— A NN O N o
R T o B o B o T o T o B o O o B B o T o T o IO o B o | NN N <
e ~— [
4-methaoxy-N-(naphthalen-2-ylmethylaniline (11)
CDd;
13, 0.
75 MHz N BN CH,
|l &
6, 7 P 11
|1|/\|5/\NH N
8
/2\/4
[
17\/19
18
| |
| Il
—7T1 * 1 * I 1 1 1 ‘*+ 1 *+ I *+~ 1 ‘* 1 ‘' 1 ‘v T ‘v T ‘* T ‘' T ‘' T ‘' T ‘T T T T ‘' T ‘' T ‘T T T T T T T
220 210 200 190 180 170 160 150 140 130 120 llfti( 1)00 90 80 70 60 50 40 30 20 10 0 -10
MA

S59



N-(cyclohexylmethyl)-4-methoxyaniline (Im)

pn-359pure (408) r 380

7.26
6.81
6.78
6.60
6.57
3. 76
—3.48
~2091
1.85
1.80
1.74
1.69
1.28
1.25
1.22
1.01
0.97

%

_/'2.93

D
360

/
Le
Y

2 i e -340
NN 320

7 300

/ =280
260

240

N-(cyclohexylmethyl)-4-methoxyaniline (1m)

o / /

300 MHz

T

3(m)
0.97 220

K (s)| | §(d) D (s) G (m) 500
7.26 | 4.59 3.48 1.57 I

C) de)| [ H) F(dd)| |I(dt) 180
.7b 3.76 192 1.77 | | 0.96 I

i = b 160
H,(m) i

Ll o1.25 140

120
;100
;80
;60

40

20

7
f1 (ma)

S60



22000
21000
~20000
19000
18000
17000
16000
~ 15000
- 14000
13000
12000
11000
10000
~9000
8000
~7000
6000
~ 5000
4000
~3000
~2000
~ 1000
-0

~-1000

O < oM
pn359pur PN Q O [o) e O — O VW T M
16 14 v o <™ @0~ © Mmoo
| | LN < — LN N = O O
6 NH 11 13 ™ ™ N L 0 (TlN N
|1|/ \f/g ~ S \ o/ NN
H. 2 4
38\ O/ \3/
7
N-(cyclohexylmethyl)-4-methoxyaniline (1m)
CDds
101 MHz
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
210 200 190 180 170 160 150 140 130 120 110 f11(00) 9 8 70 60 50 40 30 20 10 -10
MA

~-2000

S61



N-(4-methoxyphenyl)adamantan-2-amine (In)

~80
=75
0
-‘65
60
55
=50
s
a0
-‘35
=30
25
~20
s

10

ny541 NO T N — NI —WOWwMmMO
Q ®© © Y ~ 0 QOO RXN VY
H/W§ O O Vv o ™M ™M N o
|9f—10\8/11 \1\2\ 1\6 — | e
7 | 15
13 P72
AN ~7 o
1‘2\3 1‘8
CH,
19
N-(4-methoxyphenyl)adamantan-2-amine (1n)
CDds /] / /
400 MHz
B (d) D (s) F (d)
6.63 3.51 1.62
A(d) (s) E (m)
6.81 177 1.92
H H H —H
|
|
| |
|
o i HT
o o o o (o) N en]
oo S Q ~N <
AN N ™M —
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
120 115 11.0 105 100 95 90 85 80 75 7.0 6.5f (6.0) 35 3.0 25 20 15
1 (ma

S62



18000

17000

16000

~ 15000

- 14000

ny541 M © N T
@ 3 35 28 REBIHH
NH T — — <t < . = S . -
7~ Loy alhs P R INEN
L7 5/|4 o /15\0 I I N —~ /—
1/‘2\31 b 1l8 !
CH; '
19
N-(4-methoxyphenyl)adamantan-2-amine (1n)
CDds
101 MHz
|
|
|
|
|
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
210 200 190 180 170 160 150 140 130 120 110 f11(00) 90 8 70 60 50 40 30 20 10 -10
M

S63



Display Report

Arnalysis knfa
Analysis Mame

Acguisition Date 25112014 17:35:38

CaData\lvanovalDEM-Tm.d

Maihod fune_low.m Cperater EDAL@ODE
Sample Mame /LEVH DEM-1nr strument ! Sarg . micrDTOF 10Zd4R
Cammeni CHAICH 100 %, dil 200
Boguisition Paramelar
Souree Type EGl lan Falarily Fositive St Maouizer 0.8 Bar
Focus Mol 3o Eat Dry Heater 180 T
Saan Begin 50 mi2 Hel Capiany 4500 W et Dry Gas 4.0 limiin
Scan End 3000 miz2 Sat End Flate Dilfsal E=1iER Sar Divert Yalva Wasw
infans. +ME, 0.0, 3man B(1.20)
and 258, 1853
E-
4
-
1451073
G133 T G20 62ER
Beg SEGE
L e e e s e "ﬂ*.',' o e 7 S e .'L' e
100 200 304 450 =00 s00 Too a0 b ] miz
Intons. | +ME, 0U0-0.3man (120}
wipd 2581854 '
E_-
4~
o 149.5078
3 E¥1.3297 S20.6285
2 | I \ B4E. 2608
3 CATHZIND, M-nH . 35813
EEOO- 255 1250
20040 =
15002
10005
503 =
- - - - poe o o - - : S -
1] 200 0o 400 RiED HOG Toa 2400 B 1004 MiT
Bruker Campass Datahnalysis &0 printed: 25.11.2014 17-46:38 Page 1 af t



1n

Title 1n |
File Name C:\USERS\LENOVO\DESKTOP\EAAI EE\REDUCTIVE AMINATION PURE\IR\2014.12.02\1N1.SMF.TXT
Date 03 Dec 2014 13:43:48 Technique Infrared Spectral Region NIR-IR
X Axis Wavenumber (cm-1) Y Axis %Transmittance Spectrum Range 349.1309 - 5000.6699
Points Count 4824 Data Spacing 0.9644
40
35 -
1 2
i (9]
] »
p— (62}
30 A
E [ ~
f I [=3 5
25 NNz &
] N[ &
8 B w | w![© o
I+] ] » » ©
5 3 g 2
E=} 1 p N o
€ 5 3 N 9
@ 20 7 8 N X
© ] a IS
[ ] ©
BN ] ©
15 1 N
] 3
- oo
] Y
1 >
10 - l 2
] a8
. [N}
4 ©
5
1 - \
J B n
] S &
] o | S}
0 S
N
N
o
— — — —
4000 3000 2000 1000
Wavenumber (cm-1)
No| cm-1 %T | Intensity || No | cm-1 %T | Intensity
1 | 505.37 | 34.320 w 11 ] 1226.78 | 16.717 S
2 | 543.95 | 35.934 W 12| 1292.36 | 26.077 M
3 | 577.71 | 35.757 w 13 | 1377.23 | 23.006 M
4 | 654.86 | 36.322 w 14 | 1466.93 | 12.524 S
5 | 747.45 | 27.421 M 15| 1511.29 | 10.684 S
6 | 814.96 | 20.606 M 16 | 1615.45 | 34.149 W
7 | 1037.75 | 22.545 M 17 | 2852.84 | 3.718 VS
8 | 1105.26 | 26.792 M 18 | 2922.28 | 1.177 VS
9 | 1134.19 | 26.052 M 19 | 2952.18 | 4.266 VS
10 | 1177.59 | 26.918 M 20 | 3394.86 | 23.794 M

S65



4-methyl-N-neopentylaniline (10)

R — 00 O © o —
pn-380pure S&ihin o = o i
HsC B N O O O N« —_ 5500
S N ~ I I I
| I G <000
2. /4 8. -
NN g NS
7 I
GHs 4500
4-methyl-N-neopentylaniline (10)
CDds I 4000
300 MHz
- 3500
D (d) ~3000
6.57
C(d) A(s)|| B(s) g (s)
7.00 2.89|| 2.25 1.01 - 2500
H H H H
~2000
- 1500
~1000
|
- 500
o
._LU Wi T\ S -0
b L b & &
e Q SAEES) —
N N — N D --500
T T T T T T T T T T T T T T T T T
14 13 12 11 10 9 7 5 4 3 2 1 0
f1 (ma)

S66



pn380pur
HsC
313\1/6\5
[ CH
NN o Che
3 NH 9
’ |
CHs;

4-methyl-N-neopentylaniline (10)
CDds
101 MHz

27.70

—146.90
—129.71
~126.09
—112.83
—20.37

—56.32
~31.87

210 200 190 180 170

—r 1 -~ 1 T 1 1 1 1 "~ 1 T 1 T 1 T T T T ‘" T ‘* T ‘"t T ‘©* T * T T
160 150 140 130 120 110 f11(00 ) 90 80 70 60 50 40 30 20 10 0 -10
ma

S67



Display Report

Arnalysis knfa
Analysis Mame
Maihed
Sample Name
Cammeni

DaData\lvanova \ DEMN -1 elow.d
fune_low.m

LEWH DEM-1olow

CHACKN 100 %,

Boguisition Paramelar

Soaree Type
Focus

Seen Begin
Scan End

Intens .
A

&

E-

B, L.

E&l len Falarily

Mol acde

50 miz Hed Capiary

S000 mi2 Bet End Flate Difsel

1781557

149 1076

21405693

I j 2932003 5B 4088
Loty e R U T PP LIy "Dy SR v i Ny F P [ T N k|
LR = ¥ | G e 0 1

Acquasition Date 25112114 16:10:11

Cperater BOAL@MOE
Ensbrumant ! Sacg miceDTOF 10248

Fosinve Sai Nanuier 0.4 Bar
Eat Dry Heater 180 T

4500 v Soi Dry Gas 4.0 limin

S0y Sai Divert Valva Wasw

SHE T 1 .0min ¥(43.50)

a53-2838

miT

3s0 s0n 450 500 | E5O

Inl'urh.:.l
L

o

I TE 5T

r49.1076

Z14,1583

1200807 | 7433880

+ME, I.T-5.0min #4459
53,2930

Z33.2003

3000-
2600

20007

nog

500

[EESEEET

178 LEa0

CIZHIEM, M-nH 1TH.LE

=]

150 200 250

Bruker Campass Datahnalysis &0 printed:

el a50 IhE] &850  imfz

25.11.2014 16:17:27 Page 1alt



10

Title 10 |
File Name C:\USERS\LENOVO\DESKTOP\EAAI EE\REDUCTIVE AMINATION PURE\IR\2014.12.02\101.SMF.TXT
Date 03 Dec 2014 13:44:04 Technique Infrared Spectral Region NIR-IR
X Axis Wavenumber (cm-1) Y Axis %Transmittance Spectrum Range 349.1309 - 5000.6699
Points Count 4824 Data Spacing 0.9644
120 3
110 3
100 §
90 I L _\L
: g3
: L S
— wW w
80 I ©
1 > — &
E S| =2 3
E @ ey by
— 1 (&)}
70 g 1|98y ®
8 ] eI
s - 8
£ 60 1 | =
2 %0 3 5 L 8L
g s |5 B
R 2 |9 &
50 7 8 ~ N @®
E g &
] o w
1 - N
40 1
1 &
= 3
30 3 ©
4 B
20 1
10 4
- T ‘ T T ‘ T T ‘ T
3000 2000 1000
Wavenumber (cm-1)
No| cm-1 %T | Intensity || No | cm-1 %T | Intensity
1 | 509.23 | 79.433 M 11 | 1364.70 | 75.050 M
2 | 805.32 | 51.971 S 12 | 1394.59 | 84.708 M
3 | 1023.28 | 91.788 M 13 | 1476.57 | 59.281 S
4 | 1089.83 | 90.654 M 14 | 1520.94 | 36.831 VS
5 | 1125.51 | 77.933 M 15| 1619.31 | 60.849 S
6 | 1182.42 | 76.152 M 16 | 1734.08 | 97.374 M
7 | 1197.85 | 75.759 M 17 | 2865.38 | 69.370 S
8 | 1252.82 | 59.591 S 18 | 2954.11 | 52.967 S
9 |1290.43 | 67.985 S 19 | 3016.80 | 94.916 M
10 | 1318.40 | 75.147 M 20 | 3418.97 | 98.170 w

S69



4-methoxy-N-neopentylaniline (Ip)

pn35¢ NOY M O ~N o
o} C e e - = = 9000
2 TN O OV VO (2] o~ — B
T ”7 1C1;H '\\ // | | |
LN NN Y
~ NH -8000
HoC |
P
. - 7000
4-methoxy-N-neopentylaniline (1p)
o /] |
300 MHz
- 6000
D (d) ~ 5000
6.62
C (d) B (s) A(s) g (s)
6.80 3.76 2.87 1.02
o . - - 4000
3000
2000
|
| ~1000
M J
) W |,
& t & & L
o S o) S
— N ™M — (@)
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
12.5 11.5 10.5 95 90 85 80 75 7.0f1 (6.5) 60 55 50 45 40 35 30 25 20 15 1.0 05
M

S70



pn-359 & B AR O N — M -

MGD 2012 13C o 0 = o < & S 0~ — - 1E+05
9/\7/1O\CH3 n < — N Lo — N e L
rmEs % G

~1E+05
H-C. 2 P 6
AN T g _
3
HaC LH - 1E+05
1 3 L
~1E+05

4-methoxy-N-neopentylaniline (1p) i

CDhds - 1E+05

101 MHz L

~90000
-80000
- 70000
- 60000
50000
40000
30000
| | | 20000
| L
10000
) M.“ ) . o
~-10000
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
210 200 190 180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10 0 -10

f1 (ma)

S71



N-neopentylnaphthalen-1-amine (1q)

~5500

~5000

4500

~4000

3500

~3000

2500

~2000

~ 1500

~ 1000

500

pn-367pure —oOoULANAN——ONAIT NNNO WO o O
13C {1H} CPD QNI aQOIUMIINIETTMOMAN O — H
Q NNNNNNNNNKNNNNWOO ™M -
1/ \5 *él\*wﬁm&ﬁ’ég |
I cr
/2\3/4\ /12\1I3/8H3
[— o
8 10 H
N7 CHy
N-neopentylnaphthalen-1-amine (1q)
CDds _ [
300 MHz
C(m)
7.51
B()| | E()||F() H (s) A(s) g (s)
7.88| | 7.29| | 6.70 4.42 3.12 1.18
H EHHH H | e | H [id
D (t)
7.42
—_
th & &
@ a Q
o — o))
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
12.5 11.5 10.5 95 9.0 85 6 5.5 4.5 35 30 25 20 15 1.0 05

=-500

S72



pn367pur OT O MMNMOC I N
PN oY aonnNwOVINnN™NoN Lo — o
T TTOONTEMAN a xQ -9000
|| | CH T ANANANANANA—O LN — N
1630H v o o o ] ] ] ] LN o N |
7/2\3/4\NH/12\1I3/14 3 M\/// | | \
| | " - 8000
N F1° %H3
9
~7000
N-neopentylnaphthalen-1-amine (1iq)
CDhds L
101 MHz
~ 6000
5000
~4000
3000
2000
|
| i
| |
| 1000
WMWWMMMWWWWWW—O
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
210 200 190 180 170 160 150 140 130 120 110 f11(00) 90 80 70 60 50 40 30 20 10 0 -10
MA

S73



ethyl 3-(4-methoxybenzylamino)benzoate (Ir)

800
750
700
650
600
550
500
450
400
350
300
250
200
150
100

50

pn473ct M=o NOoOWOWUTNOMAN OOt M- N O ®©
TTETM MO MANNO O TMH MMM < < M
/*8\/8\ NNNNNNNOOOO TN — — -
1|9 |1|7 SHS I‘;gl\\k)gg‘t I\_}// '\ul/
6. NH B 16
”/ \r/7 S W
2\3/4
11 8
SN
HsC o~ /[
12 10 9 /
ethyl 3-(4-methoxybenzylamino)benzoate (1r)
CDds
400 MHz
F (d) C(s)
6.91 4.31
E (d) B(a)|| §(s) A
6.82 4371l 3.83 1.40
— HH H K
G (m)
7.33
I
S b ch
—QQ Q
AN AN M ™M
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
12.5 11.5 10.5 95 90 85 80 75 z.o( )6.5 60 55 50 45 40 35 30 25 20 15 10 05
1 (ma

S74



pn473ch

128.89
-~118.61
117.13
114.08
113.59

¥

130.91
129.16

~60.84
~55.30
—~47.75
—14.35

ethyl 3-(4-methoxybenzylamino)benzoate (1r)
CDd5 - 7000
101 MHz i

210 200 190 180 170 160 150 140 130 120 110 f11(00) 90 80 70 60 50 40 30 20 10 0 -10
ma

S75



Display Report

Arnalysis knfa

Analysis Mame
Maibod
Sample Namea
Cammeni

CoData\lvanova DEM -fr.d
fune_low.m

LEWH DEM-1r

CHACKN 100 %, dil 204

Boguisition Paramelar

Soaree Type
Focus

Seen Begin
Scan End

E&l

Mol acde
50 miz
S000 mi2

lon Paolarily

Sei CapHay
Bat End Flate Difse)

tnhens .|
A

.50

43181y

1 2. 1444

Po-gitivgr

4500 v
S0y

571.27END

Acqguasition Date 2511214 17:28:47

Cperater

Sai Nanuier
Eat Dry Heater
Soi Dry Gas
Sai Divert Valva

EBDAL@DE
Ensbrumant ! Sacg miceDTOF

10248

0.4 Bar
180 G
4.0 Ihmin
Wasw

+ME, 0000 3man Bi1-18)

7E4 :‘?“5 548 SHTE
i i i

3 A4 1.2aTz
e L] s

100

0.00

L s Bl s B T ey Lo

200

Bk R Rt |

200 a0

=00

i
T i

B0 700 B0 “san | miz

Intens .
150

28414944

10noo:

5I}|:|: 2TE2dE3 I
: T P i L i |

20€. 25250

' I

At M5, 000, 3man #1195

ap 1 4a 23042627

| | " L |

COH 1IN 14091

255.1428

CAITHEENOD, M-nH 236.14

CATHAISNOT, Menfin 0813
021267

ars ZHE 280

Bruker Campass Datahnalysis &0 printed:

285

25.11.2014 17:36:00

00 b: Bl 215 MiT

Page 1 af t




1r

Title 1r |
File Name C:\USERS\LENOVO\DESKTOP\EAAI EE\REDUCTIVE AMINATION PURE\IR\2014.12.02\1R.SMF.TXT
Date 03 Dec 2014 13:44:16 Technique Infrared Spectral Region NIR-IR
X Axis Wavenumber (cm-1) Y Axis %Transmittance Spectrum Range 349.1309 - 5000.6699
Points Count 4824 Data Spacing 0.9644
100
95
90
85
80
75
70 &)
@ \
[0 ]
8 |
65 = 2
8 I \\a\“l\‘ ‘ \\l
60 L~ i Jo2 « 8
20 4CL 1 N8R R
© 3 9agpbipuRs 2SR
S 55 e ol¥s3EgNeR Re
= voogdIBILgw ®
£ 50
§ 45 {‘
= X
® &
oo
40 @ e
3 S\l
O [o5]
a3
30 “le
N e
n
25 S
S
[N}
20 -
15
10
5
0
— I — —
3000 2000 1000
Wavenumber (cm-1)
No| cm-1 %T | Intensity || No | cm-1 %T | Intensity
1 720.44 | 63.211 M 12 | 1377.23 | 59.451 M
2 | 754.20 | 58.831 M 13 | 1456.32 | 46.819 S
3 | 823.64 | 61.284 M 14 | 1464.03 | 48.129 S
4 | 1024.25 | 61.858 M 15| 1510.33 | 59.739 M
5 | 1098.51 | 62.156 M 16 | 1582.66 | 68.705 M
6 | 1172.77 | 62.825 M 17 | 1608.70 | 66.240 M
7 |11239.32 | 58.918 M 18 | 1703.22 | 60.383 M
8 | 1248.96 | 59.218 M 19 | 2853.81 | 35.563 VS
9 | 1272.11 | 58.639 M 20 | 2924.21 | 28.317 VS
10 | 1328.05 | 61.770 M 21 | 2953.14 | 35.611 VS
11 | 1363.73 | 59.829 M 22 | 3388.11 | 71.340 M

S77



N,N-dibenzyl-1-(4-methoxyphenyl)methanamine (1s)

750
;700
;650
600
550
;500
450
400
;350
300
250
;200
150
100

=50

PN tTEMmOMOMmMmMm AN 0 WO N
157 s NNNNKNKNKNNOO MM e
| | i} —— N
16\ 12
\17/ \1|O 2|2/ \|2|O
7/2‘\9/”\ /19
| 18
4.
O [ |
2\1/6
@)
~
HC™ 2
24
N,N-dibenzyl-1-(4-methoxyphenyl)methanamine (1s) B (d) A (s)
CDd5 7.29 3.60
400 MHz D (d)|| A (d) B (s
746 6.92 .84
HH H [
Ci(dd) b (S)
1.37 B.55
|
|
& S S &S
©299o9 S359
tTOUANAN ™M < AN
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
12.5 11.5 10.5 95 9.0 85 80 75 7.0f1 (6.5) 55 50 45 40 35 30 25 20 15 1.0 05 0.0
ma

S78



pn469 1143c
15/ >

16§ /12\ 21\

139.78
131.60
129.89
128.76
128.23
126.83
—113.62
57.76
57.21
55.28
—29.74

J
/
i
/[
\

o}
~ -
He” 18000

N,N-dibenzyl-1-(4-methoxyphenyl)methanamine (1s) 16000
CDds I
101 MHz

210 200 190 180 170 160 150 140 130 120 110 f11(00) 90 80 70 60 50 40 30 20 10 0 -10
ma

S79



N-isopropyl-2-methoxyaniline (1t)

~5500

~ 5000

~4500

4000

3500

~3000

2500

~2000

~ 1500

1000

500

TR NJQJRW NM—OOYTANO N
37Oy O) @Q GQ I N QRO MNMNMNN MM
N OO OV Vo PN MmN mem e m —
= CHy T/ ”7 e SN’
|
1 4 6
H3C/ 'Y
3 2 |
8\CHQ,
11
f
M-isopropyl-2-rmethoxyaniling (1)
CDCl;
400 MHz
B (d) E (dt)
6.90 3.76
A(d) D (s) F(d)
6.99 3.97 1.38
] H — H
C(t)
6.78
il k
I
S &
o O o
M - )
T T T T T T T T T T T T T T T T T
6.5 6.0 5.5 5.0 45 4.0 3.5 3.0 2.5 2.0 1.5 1.0 0.5
f1 (ma)

~-500

S80



ny574

~121.35
~115.95
/ 110.31
4109.52
—55.37
—43.86
23.10

N-isopropyl-2-methoxyaniline (1t) - 5000
CDd: L
101 MHz - 4500

M memwmmwmjmm -—0

L I B e e e A A L
155 150 145 140 135 130 125 120 115 110 105 100 95 9f(1)( 8)5 80 75 70 65 60 55 50 45 40 35 30 25 20
ma

S81



ethyl 4-(isopropylamino)benzoate (1u)

NY51¢ AN LN ™M < N AN O LMW M
0 © LN L0 M ™ MmN
NN © O <+ < — o 500
H NH 1 H
3103\1|5/14 \1|2/ \|1|o 31C\|2 N ~NC ~NC —y
7: 9.
CHs XN 9 - 450
[
(@]
4
[ r 400
ethyl 4-(isopropylamino)benzoate (1u)
DA S/
400 MHz ~350
~300
D (dd) € [C))
4.14 124
A (d) B (d) C (d)|| E (hept) AP 250
7.88 6.54 433|| 3.70 13
H H H H =] i
~200
~150
I
~100
50
J J B M JJAMW o
S & e S &S
S S SS9 S S
o o AN o~ ™M O
T T T T T T T

120 115 110 105 100 95 90 85 80 75 7.0 65

- T T 1 T 1 T T T T T T T
60 55 50 45 40 35 30 25 20 15 10 05 0.0
f1 (ma)

S82



NY519 b, Ln LN o o -
o — N —-\ N ~ N N
g & 5 90 S o N < 45000
— — - — [ < N
I I [ I I I I
11
H31c3>\15/I:IH\12/ \10H3IC\2 40000
CHy N\, 9 '
I - 35000
©
ethyl 4-(isopropylamino)benzoate (1u) I
CDd; - 30000
101 MHz
25000
| |
20000
|
15000
[ 10000
|
I -
5000
— - i R T ) ) . - P L -0

210 200 190 180 170 160 150 140 130 120 110 f11(00) 90 80 70 60 50 40 30 20 10 0 -10
ma

S83



Display Report

Analysis infa Acquisition Date 25 112014 17:18:01
Analysis Mame  DiData‘lvarova \DEMN-Tu.d
Maihod fune_low.m Cperater EDAL@ODE
Sample Mame /LEVH DEM-1u strument ! Sarg . micrDTOF 10Zd4R
Commeni CHACHN 100 %, dil 200
Boguisition Paramelar
Souree Type ESl lon Paolarily Positivir Sof Mabulizer 0.4 Bar
Focus Mol 3o Eat Dry Heater 180 T
Saan Begin 50 mi2 Hel Capiany 4500 W Sul Dry Gas 4.0 Iimiin
Scan End 3000 miz St End Flate Dilfsal S00 Y Sal Divert Valva W e
bnibing . +ME, 00 -il.!m:r\-.ﬂi'l-15:l
o,
208 1325
55 437.2389
‘ i
3_
E-.
1 -
- )u dl B&Z.5535
'}"—'J—I";—l Ty T Sy LTk Lo 1 ¥ T T 1 T T T T L
500 R 1&a0 2000 25030 miI
Intens +ME, 000 dman #i1 -EE:-E
xiod 2021928
ul 2301148
z
aABg. 1 TaT
i L i 2581461
D: CIEHTTHOEZ, ManH 20813
- 20,1332
2000~
10 -
ol ]
r CAZH1ITHOZ, MeniNa 23012
2 23011581
200G -
10’
R : : ' L : : : :
1890 200 Faly zan 30 =40 st} 2E0 ML

Bruker Campass Datahnalysis -i.l.}

printed:

25.11.2014 17:26:35

Page 1 af t



1u

Title 1u |
File Name C:\USERS\LENOVO\DESKTOP\EAA[ EERREDUCTIVE AMINATION PURE\IR\2014.12.02\1U.SMF.TXT
Date 03 Dec 2014 13:44:32 Technique Infrared Spectral Region NIR-IR
X Axis Wavenumber (cm-1) Y Axis %Transmittance Spectrum Range 349.1309 - 5000.6699
Points Count 4824 Data Spacing 0.9644
0
. N Q
120 o - w
i -3 =
: i
110 4 E.‘
100 g
90 1
] = b
80 1 BB 5o
3 2O B
E > oS = o
E | &ooo ™ O S
b b B © oo \ d g Py
R W ~ ‘ 2w
4 ~ — N N w
70 - & > e e R )
E © o SARHPOR o= IR 5 ~
g 7 @ NRELoN2JeN gl o4
5 - 3eR8 BPgPial 235
£ 60 4 = &
2 ]
IS 1
= ]
* 50
40 1
30 4
20 1
10 3
0 3
— — —
3000 2000 1000
Wavenumber (cm-1)
No| cm-1 %T Intensity || No | cm-1 %T Intensity
1 | 633.64 | 75.188 S 15 | 1418.71 | 73.730 S
2 | 651.97 | 75.872 S 16 | 1456.32 | 71.478 VS
3 | 701.15 | 69.751 VS 17 | 1529.62 | 72.061 S
4 | 77156 | 67.237 VS 18 | 1602.91 | 70.848 VS
5 | 838.11 | 70.216 VS 19 | 1687.79 | 71.422 VS
6 | 876.68 | 84.269 S 20 | 1921.18 | 107.065 w
7 | 946.13 | 84.248 S 21 | 2129.50 | 113.467 VW
8 |1022.32| 72.030 S 22 | 2544.22 | 109.570 W
9 |1103.33 | 70.150 VS 23 | 2606.91 | 104.243 W
10 | 1174.70 | 69.430 VS 24 | 2874.06 | 83.486 S
11 | 1272.11 | 69.340 VS 25 | 2903.96 | 83.319 S
12 | 1339.62 | 70.321 VS 26 | 2946.39 | 83.071 S
13 | 1367.59 | 71.135 VS 27 | 2977.26 | 76.608 S
14 | 1386.88 | 71.903 S 28 | 3365.93 | 74.973 S

S85



N-(4-bromophenyl)adamantan-2-amine (1v)

pn452 c13 << N o — o —NOT OO r110
NN DS — n © 0O ®WWN © LN
/NH\/”\m NN OO < ™ AN o
o101 T2 \ N N | | e
| | i P -100
6 13. ~
/\I\f’/i \14/ Br -
T 18
~90
N-(4-bromophenyl)adamantan-2-amine 1 (v) 80
CDUg j / / L
400 MHz
70
60
(m)
Il.84
A(d) B (d) C(s) D () 50
1.23 @.49 3.50 .0
HH HH H HH = i
F (d) L
1.61 40
30
|
20
r10
-0
s T [ B T’g i)
LN o i — N O 0
o S o = =g --10
o | o o o | T
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
10.5 10.0 9.5 9.0 8.5 8.0 7.5 7.0 6.5 6.0 5.5 f15(.0 ) 4.5 4.0 3.5 3.0 2.5 2.0 1.5 1.0 0.5 0.0 -0.5
M

S86



o~ ' o
213 § & 87 % BRERSS
17 Vo) Bl <t ©© . A -
r’m\s/w'\le\Q/ \1\6 < it - S 8 r’v\) r’v\) = ("\\I ("\\I
7 | 15, | (. | —a~ 24—
/6\|\5/4 13\1/ \Br
1~ ] 18
N-(4-bromophenyl)adamantan-2-amine 1(v)
CDds
101 MHz
|
|
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
210 200 190 180 170 160 150 140 130 120 110 f11(00) 90 80 70 60 50 40 30 20 10 -10
mA

S87



